PY EIEERHAEERAN

~— X TC XIAMEN GOLDEN EGRET SPECIAL ALLOY CO., LTD.

THERSA

Tool System




BENEEHMaERRAF

XIAMEN GOLDEN EGRET SPECIAL ALLOY CO,, LTD.

HSKTool System
HSK TER%

HSK-A-DHP &EJIHE

HSK-A-DHP &E7JHE ( IHSER)

HSK-A-SF #3704 (—iF% )

HSK-A-GSK SiEf5REE IR

HSK-A-ER 384552774

HSK-A-VER BRIE M MEIUF T4

HSK-A-HPM SiEfs&a et 03k

HSK-A-HPC SiEiFEaw I3k

HSK-A-GLN {IE=774%

HSK-A-SLNB {liE=X7J4%

HSK-A-MTA EXNHETIR ($hLER )

HSK-A-GPU E{F3{532L TR

HSK-A-FMB EmE{k %



HSK-A-DHP ¥k JJ#K
HSK-A-DHP Hydraulic Chuck

EHfAR #®FE ER

Specication Vi ‘ L1 Suit collet Wrench Weight
HSK40A- DHP6-70 28 34 | 275 | 10 28 70 | M5X0.8 - T04 0.55
DHP8-70 30 34 | 275 | 10 28 70 | M6X1.0 - T04 0.56

DHP10-75 | 10 32 34 | 325 | 10 34 75 | M6X1.0 - T04 0.61

DHP12-85 | 12 34 34 | 375 | 10 - 85 | M6X1.0|D12/0D12| TO04 0.68

HSK50A- DHP6-70 6 28 40 | 275 | 10 28 70 | M5X0.8 - TO4 0.74
DHP8-70 8 30 40 | 275 | 10 28 70 | M5X0.8 - TO4 0.75

DHP10-75 | 10 32 40 | 325 | 10 34 75 | M5X0.8 - T04 0.82

DHP12-85 | 12 34 40 | 375 | 10 44 85 | M8X1.0|D12/0D12| TO04 0.87

DHP14-85 | 14 36 40 | 375 | 10 44 85 | M8X1.0 - T04 0.90

DHP16-90 | 16 38 60 | 425 | 10 30 90 | M8X1.0 - TO4 0.94

DHP18-90 18 41 - 42.5 10 - 90 | M8X1.0 - TO4 0.96

DHP20-90 20 42 - 42.5 10 - 90 | M8X1.0 |D20/0D20| TO4 0.99

HSK63A- DHP6-70 6 28 50 | 275 | 10 24 70 | M5X0.8 - T04 1.01
DHP8-70 8 30 50 | 275 | 10 24 70 | M6X1.0 - T04 1.02

DHP10-75 | 10 32 50 | 325 | 10 35 75 | M8X1.0 - T04 1.08

DHP12-85 | 12 34 50 | 375 | 10 40 85 | M8X1.0|D12/0D12| TO04 1.13

DHP14-85 | 14 36 50 | 375 | 10 40 85 | M8X1.0 - TO4 1.17

DHP16-90 | 16 38 50 | 42,5 | 10 46 90 | M8X1.0 - TO4 1.21

DHP18-90 | 18 41 50 | 42,5 | 10 47 90 | M8X1.0 - T04 1.22

DHP20-90 | 20 43 50 | 42,5 | 10 48 90 | M8X1.0 |D20/0D20| TO04 1.25
DHP25-120| 25 57 63 51 10 59 120 |M16X1.0 - TO5 2.17
DHP32-125| 32 63 75 55 10 63 125 (M16X1.0|{D32/0D32| TO5 2.54

HSK100A- DHP6-75 28 54 27.5 10 26 75 | M5X0.8 - TO4 2.4
DHP8-75 30 54 27.5 10 26 75 | M6X1.0 - TO4 2.41

DHP10-90 | 10 32 50 | 325 | 10 42 90 | M8X1.0 - T04 2.48

DHP12-95 | 12 34 50 | 375 | 10 47 95 | M8X1.0|D12/0D12| TO04 2.53

DHP14-95 | 14 36 50 | 375 | 10 47 95 | M8X1.0 - T04 2.58
DHP16-100| 16 38 50 | 42,5 | 10 53 100 | M8X1.0 - TO4 2.61
DHP18-100| 18 41 50 | 42,5 | 10 53 100 | M8X1.0 - TO4 2.66
DHP20-105| 20 43 50 | 42,5 | 10 59 105 | M8X1.0 |D20/0D20| TO04 2.75
DHP25-120| 25 57 63 51 10 62 120 | M8X1.0 - TO5 3.39
DHP32-125| 32 63 75 55 10 62 125 | M8X1.0 |{D32/0D32| TO5 3.66




H*: WNBERT, HRFRMITE.

Notice:Wrench is included,while collet shall be ordered separately.
¥ & /Feature

WDHP JJR RFIH@EEE. ®EEVINNMI, VRMRE.
W3 4% E: G2.5; 20,000 rpm.

3D 442 Bk 0.003 mm.

M For high-speed and high precision cutting;

M Balanced: G2.5; 20,000 rpm;

B Runout (X3D): < 0.003 mm.

HSK-A-DHP W JETIWE (hntzk)
HSK-A-DHP Hydraulic Chuck

ks JU=} Dimension EHER ®/TFE  EE
Specication d H V Suit collet Wrench Weight

HSK63A- | DHP6-150 6 28 50 |[27.5| 10 | 103 | 150 | M5X0.8 - TO4 1.3
DHP6-200 6 28 50 |[27.5| 10 | 103 | 200 | M5X0.8 - T04 1.65

DHP8-150 8 30 50 |[27.5| 10 | 104 | 150 | M6X1.0 - T04 1.44

DHP8-200 8 30 50 |[27.5| 10 | 104 | 200 | M6X1.0 - TO4 1.74

DHP10-150 | 10 32 50 | 325 ]| 10 104 | 150 | M6X1.0 - TO4 1.51
DHP10-200 | 10 32 50 | 325 ]| 10 104 | 200 | M6X1.0 - TO4 1.9

DHP12-150 | 12 34 50 |37.5| 10 | 105 | 150 | M6X1.0 | D12/OD12 | TO4 1.58
DHP12-200 | 12 34 50 |37.5| 10 | 105 | 200 | M6X1.0 | D12/0OD12 | TO4 1.92

DHP14-150 | 14 36 50 {375 | 10 | 105 | 150 | M6X1.0 - TO4 2.11
DHP14-200 | 14 36 50 ({375 | 10 | 105 | 200 | M6X1.0 - TO4 2.52
DHP16-150 | 16 38 50 | 425 | 10 | 106 | 150 | M8X1.0 - TO4 1.71
DHP16-200 | 16 38 50 | 425 | 10 | 106 | 200 | M8X1.0 - TO4 2.46
DHP18-150 | 18 41 50 | 425 | 10 | 107 | 150 | M8X1.0 - TO4 1.83
DHP18-200 | 18 41 50 | 425 | 10 | 107 | 200 | M8X1.0 - TO4 2.55

DHP20-150 | 20 43 50 | 425 | 10 | 108 | 150 | M8X1.0 | D20/OD20 | TO4 191
DHP20-200 | 20 43 50 | 425 | 10 | 108 | 200 | M8X1.0 | D20/OD20 | TO4 2.67




HSK-A-SF # TJ# (—4=0)
HSK-A-SF Shrink Fit Holder

L1

L2(Max)
Ls(Min)
|- -

iUE=) JX~F Dimension HE
Specification d L2 (Max) L3 (Min) Weight
HSK63A- SF3-80 3 10 10 80 - 9 0.50
SF4-80 4 10 10 80 - 12 0.60
SF5-80 5 10 10 80 - 15 0.70
SF6-80 6 21 27 80 28 18 0.80
SF6-130 6 21 27 130 28 18 1.00
SF6-160 6 21 27 160 28 18 1.20
SF8-80 8 21 27 80 34 24 0.80
SF8-130 8 21 27 130 34 24 1.02
SF8-160 8 21 27 160 34 24 1.25
SF10-85 10 24 32 85 40 30 0.90
SF10-130 10 24 32 130 40 30 1.17
SF10-160 10 24 32 160 40 30 1.45
SF12-90 12 24 32 90 40 30 0.92
SF12-130 12 24 32 130 40 30 1.15
SF12-160 12 24 32 160 40 30 1.55
SF14-90 14 27 34 90 42 32 0.95
SF14-130 14 27 34 130 42 32 1.18
SF14-160 14 27 34 160 42 32 1.60
SF16-95 16 27 34 95 42 32 1.00
SF16-130 16 27 34 130 42 32 1.21
SF16-160 16 27 34 160 42 32 1.65
SF18-95 18 33 42 95 50 40 1.05
SF18-130 18 33 42 130 50 40 1.25
SF18-160 18 33 42 160 50 40 1.70
SF20-100 20 33 42 100 50 40 1.20
SF20-130 20 33 42 130 50 40 1.49
SF20-160 20 33 42 160 50 40 1.80
SF25-115 25 44 53 115 55 45 1.98
SF25-160 25 44 53 160 55 45 2.10
SF32-120 32 44 53 120 60 50 2.10
SF32-160 32 44 53 160 60 50 2.60




HSK-A-SF #3E TI (—1&=)
HSK-A-SF Shrink Fit Holder

La(Max) _ |

o LaMin)_

pies R~} Dimension HE
Specification d D2 L1 L2 (Max) L3 (Min) Weight
HSK100A- SF6-85 6 21 27 85 28 18 2.00
SF6-130 6 21 27 130 28 18 2.30
SF6-160 6 21 27 160 28 18 2.62
SF8-85 8 21 27 85 34 24 2.00
SF8-130 8 21 27 130 34 24 2.30
SF8-160 8 21 27 160 34 24 2.65
SF10-90 10 24 32 90 40 30 2.20
SF10-130 10 24 32 130 40 30 2.40
SF10-160 10 24 32 160 40 30 2.70
SF12-95 12 24 32 95 40 30 2.30
SF12-130 12 24 32 130 40 30 2.50
SF12-160 12 24 32 160 40 30 2.75
SF14-95 14 27 34 95 42 32 2.35
SF14-130 14 27 34 130 42 32 2.60
SF14-160 14 27 34 160 42 32 2.85
SF16-100 16 27 34 100 42 32 2.50
SF16-130 16 27 34 130 42 32 2.80
SF16-160 16 27 34 160 42 32 3.13
SF18-100 18 33 42 100 50 40 2.55
SF18-130 18 33 42 130 50 40 2.85
SF18-160 18 33 42 160 50 40 3.21
SF20-105 20 33 42 105 50 40 2.60
SF20-130 20 33 42 130 50 40 2.90
SF20-160 20 33 42 160 50 40 3.25
SF25-115 25 44 53 115 55 45 2.80
SF25-160 25 44 53 160 55 45 3.40
SF32-120 32 44 53 120 60 50 3.20
SF32-160 32 44 53 160 60 50 3.60
¥ /i [Feature

W) P4 E: G2.5; 25,000 rpm. EMBalanced: G2.5; 25,000 rpm;
3D 442 BkS) 0.005 mm. EMRunout (X3D): < 0.005 mm.



HSK-A-GSK =3 % 131 J2 T
HSK-A-GSK High-speed Collet

ne R~} Dimension SR E%
Specification di d2 d3 a L Suit collet Weigh

HSK40A- GSK6-60 A 40 | 195 | 20 - - 60 40 - DSK6 0.47
GSK10-75 A 40 27 | 27.5 - - 75 55 - DSK10 0.5

HSK50A- GSK6-60 A 50 [19.5| 20 - - 60 34 - DSK6 0.60
GSK6-80P A 50 [19.5| 20 - - 80 54 M6x1 DSK6 0.80

GSK10-75 A 50 27 | 27.5 - - 75 49 - DSK10 1.00
GSK10-100P A 50 27 | 27.5 - - 100 | 74 | M10x1.5 DSK10 1.20

GSK16-80 A 50 40 | 40.5 - - 80 54 - DSK16 1.75
GSK16-100P A 50 40 | 40.5 - - 100 74 M16x2 DSK16 2.00

GSK20-100 A 50 48 | 48.5 - - 100 74 - DSK20 2.10

HSK63A- GSK6-80P A 63 | 195 | 20 - - 80 54 Mé6x1 DSK6 0.85
GSK6-100P A 63 | 195 | 20 - - 100 | 74 Mé6x1 DSK6 0.95

GSK10-75 A 63 27 | 27.5 - - 75 49 - DSK10 1.00

GSK10-100P A 63 27 | 27.5 - - 100 | 74 | M10x1.5 DSK10 1.40

GSK16-80 A 63 40 | 40.5 - - 80 54 - DSK16 2.00

GSK16-100P A 63 40 | 40.5 - - 100 | 74 M16x2 DSK16 2.30

GSK16-120P A 63 40 | 40.5 - - 120 | 94 M16x2 DSK16 2.50

GSK20-100 A 63 48 | 485 - - 100 | 74 - DSK20 2.45
GSK20-120P A 63 48 | 485 - - 120 | 94 M16x2 DSK20 2.65

GSK25-100 A 63 55 55 - - 100 74 - DSK25 2.30

GSK25-120P A 63 55 55 - - 120 94 M20x2 DSK25 2.70




HSK-A-GSK 7= 1345 2 R J& TI R
HSK-A-GSK High-speed Collet

) & R A EE
Weigh
Specification Suit collet
HSK100A- | GSK10-105P B 100 | 27 | 275|403 | 30° | 105 | 76 | M10x1.5 DSK10 2.60
GSK10-135P B 100 | 27 |27.5|403 | 30° | 135 | 106 | M10x1.5 DSK10 2.80
GSK16-105P A 100 | 40 | 40.5 - - 105 | 76 M16x2 DSK16 2.80
GSK16-135P A 100 | 40 | 405 - - 135 | 106 | M16x2 DSK16 3.10
GSK20-120P A 100 | 48 | 485 - - 120 | 91 M16x2 DSK20 3.00
GSK20-150P A 100 | 48 | 485 - - 150 | 121 | M16x2 DSK20 3.30
GSK25-120P A 100 55 55 - - 120 91 M20x2 DSK25 3.20
GSK25-150P A 100 55 55 - - 150 | 121 M20x2 DSK25 3.50

. ARG TF LM 5, KEENE 5w KRR IE T LS.
Notice: Collets and wrenchs shall be ordered separately.

¥/ Feature

B3P %E: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm;
W 3D 442 A Bk5h 0.005 mm. ERunout (X3D): < 0.005 mm.



HSK-A-ER #{: 3¢ T4
HSK-A-ER Spring Collet Chuck

JR~F Dimension

Specification L1 L2
HSK40A- ER20-80 40 34 20 80 60 100 - 0.55
ER25-80 40 42 25 80 60 100 - 0.65
ER32-100 40 50 32 100 80 120 M10X1.5P 0.90
HSK50A- ER16-75 50 28 16 75 34 85 - 0.50
ER16-100 50 28 16 100 74 125 M10X1.5P 0.60
ER20-75 50 34 20 75 44 95 - 0.70
ER20-100 50 34 20 100 74 125 M12X1.75P 0.90
ER25-80 50 42 25 80 44 95 M16X2.0P 1.00
ER25-100 50 42 25 100 74 125 - 1.10
ER25-135 50 42 25 135 109 160 M16X2.0P 1.40
ER32-100 50 50 32 100 74 125 - 1.45
ER32-135 50 50 32 135 109 160 M16X2.0P 1.90
ER32-160 50 50 32 160 134 185 M16X2.0P 2.40
HSK63A- ER16-75 63 28 16 75 49 107 - 1.00
ER16-100 63 28 16 100 74 132 M10X1.5P 1.10
ER16-120 63 28 16 120 94 152 M10X1.5P 1.20
ER16-160 63 28 16 160 134 192 M10X1.5P 1.40
ER20-80 63 34 20 80 49 107 - 1.00
ER20-100 63 34 20 100 74 132 M12X1.75P 1.20
ER20-120 63 34 20 120 94 152 M12X1.75P 1.30
ER20-160 63 34 20 160 134 192 M12X1.75P 1.70
ER25-80 63 42 25 80 49 107 - 1.10
ER25-100 63 42 25 100 74 132 M16X2.0P 1.40
ER25-120 63 42 25 120 94 152 M16X2.0P 1.80
ER25-150 63 42 25 150 124 182 M16X2.0P 2.00
ER32-100 63 50 32 100 74 132 - 1.60
ER32-125 63 50 32 125 99 157 M16X2.0P 2.00
ER32-160 63 50 32 160 134 192 M16X2.0P 2.50
ER40-100 63 63 40 100 74 132 - 2.40
ER40-120 63 63 40 120 94 152 M20X2.0P 2.60
ER40-160 63 63 40 160 134 192 M20X2.0P 2.95




HSK-A-ER #{: 3¢ T4
HSK-A-ER Spring Collet Chuck

JR~F' Dimension

Specification

HSK100A- ER16-100 100 28 16 100 71 150 M10X1.5P 3.40
ER16-160 100 28 16 160 131 210 M10X1.5P 3.70
ER20-100 100 34 20 100 71 150 M12X1.75P 3.50
ER20-160 100 34 20 160 131 210 M12X1.75P 3.90
ER25-100 100 42 25 100 71 150 M16X2.0P 3.70
ER25-160 100 42 25 160 131 210 M16X2.0P 4.20
ER25-200 100 42 25 200 171 250 M16X2.0P 4.70
ER32-100 100 50 32 100 71 150 - 3.90
ER32-160 100 50 32 160 131 210 M16X2.0P 4.70
ER32-200 100 50 32 200 171 250 M16X2.0P 5.20
ER40-100 100 63 40 100 71 150 M20X2.0P 4.30
ER40-160 100 63 40 160 131 210 M20X2.0P 5.00
ER40-200 100 63 40 200 171 250 M20X2.0P 5.60

. SRR TR BT .

Notice: Collets and wrenchs shall be ordered separately.

Y55/ Feature

W31 %E: G6.3; 15,000 rpm. MBalanced: G6.3; 15,000 rpm;
W3D 442w BkZh 0.02 mm. ERunout (X3D): < 0.02 mm;



HSK-A-VER R4 XAMEBUT TIH
HSK-A-VER Tapping Chuck

itk BUFReT 13 R SEKAT B2E
Specification Tapping capacity  Suit extender Weight

HSK40A VER16-69 | 43.5 20 69 0.2 1 M3-M12 VER16-M24 0.54

VER20-80 52 25 80 0.2 1 M5-M16 VER20-M26 0.59

VER25-90 60 32 90 0.2 1 M6-M20 VER25-M28 0.65

HSK50A- VER16-70 | 43.5 20 70 0.2 1 M3-M12 VER16-M24 0.66
VER20-87 52 25 87 0.2 1 M5-M16 VER20-M26 0.80

VER25-97 60 32 97 0.2 1 M6-M20 VER25-M28 0.96

HSK63A- VER16-64 | 43.5 20 64 0.2 1 M3-M12 VER16-M24 0.88
VER20-87 52 25 87 0.2 1 M5-M16 VER20-M26 1.06

VER25-97 60 32 97 0.2 1 M6-M20 VER25-M28 1.21

VER32-113 72 40 113 0.2 1 M10-M24 VER32-M30 1.61

VER40-122 87 50 122 0.2 1 M14-M33 VER40-M32 1.85

HSK100A- VER16-70 | 43.5 20 70 0.2 1 M3-M12 VER16-M24 3.21
VER20-82 52 25 82 0.2 1 M5-M16 VER20-M26 3.58

VER25-91 60 32 91 0.2 1 M6-M20 VER25-M28 3.95

VER32-110 72 40 110 0.2 1 M10-M24 VER32-M30 4.25

VER40-115 87 50 115 0.2 1 M14-M33 VER40-M32 4.45

F: BRAEFFRMITIE.

Notice: Collets and wrenchs shall be ordered separately.

K5 / Feature

W EE RS2 4 54 80%LL . MTap tool life increased by 80% and above;
BEXREM T AR 2-4 5. MWork efficiency increased 2 to 4 times;

B RREREM LRESHEE. MBetter surface quality;

B {EH ER L& HEJe%E. MWith ER tapping collet;

B EFE K% 44 E . MBest choice for squeeze.

W5 R k.



HSK-A-HPM {53845 25 58 1 7] % 3k
HSK-A-HPM High Speed Milling Chuck

JR~F Dimension BHREFE HE
Specification Clamping range di d2 ‘ Suit collet Weight

HSK50A- | HPM16-80 3-16 50 46 16 54 80 GC16 1.00
HSK63A- | HPM16-80 3-16 63 46 16 54 80 GC16 1.30
HPM16-100 3-16 63 46 16 74 100 GC16 1.50
HPM20-110 6-20 63 55 20 59 110 GC20 1.70
HPM32-110 6-32 63 68 32 89 110 GC32 2.50

HSK100A- | HPM16-115 3-16 100 46 16 86 115 GC16 3.60
HPM20-105 6-20 100 55 20 86 105 GC20 4.20
HPM32-105 6-32 100 68 32 86 105 GC32 4.50
HPM32-135 6-32 100 68 32 86 135 GC32 5.00

E: HROAERF, H@RF AT

Notice:Wrench is included,while collet shall be ordered separately.

¥/ Feature
B3P %E: G2.5; 20,000 rpm. M Balanced: G2.5; 20,000 rpm;
W 3D 442 Bk3h 0.02 mm. HMRunout (X3D): < 0.02 mm;

10



HSK-A-HPC =38 A% % 5 /) Bt 7] 9% 2k
HSK-A-HPC High Speed Milling Chuck

BS KAFVE Rt Dimension =58
Specification Clamping range Weight
HSK63A- | HPC20-110 6-20 63 51.5 20 84 110 GC20 1.60
HPC32-110 6-32 63 70.5 32 84 110 GC32 2.20

HSK100A- | HPC20-105 6-20 100 51.5 20 79 105 GC20 4.10
HPC32-105 6-32 100 70.5 32 79 105 GC32 4.90
HPC32-135 6-32 100 70.5 32 109 135 GC32 5.80
HPC42-115 6-42 100 86 42 89 115 GC42 5.50

E: HROAERT, HERGAMITHE.

Notice:Wrench is included,while collet is to be ordered separately.

¥/ [ Feature
W3 P % 5E: G6.3; 15,000 rpm. M Balanced: G6.3; 15,000 rpm;
W 3D 442 A Bk3h 0.02 mm. ERunout (X3D): < 0.02 mm.

11



HSK-A-GLN ] [ = JJ #%
HSK-A-GLN Side-lock Holder

BE Rt Dimension (U R RAT EE
Specification d2 L1 ‘ ] ‘ L ‘ Side-lock GCrew  Weight

HSK50A- GLN6-65 A 50 6 25 65 39 18 - 90 MO060U080 0.70
GLN8-65 A 50 8 28 65 39 18 - 90 MO080U080 0.80
GLN10-65 A 50 10 35 65 39 20 - 90 M100U120 0.80
GLN12-80 A 50 12 42 80 54 | 225 - 105 M120U140 1.20
GLN16-80 A 50 16 48 80 54 24 - 105 M140U160 1.30
GLN20-80 A 50 20 52 80 54 25 - 105 M160U250 1.50
HSK63A- GLN6-65 A 63 6 25 65 39 18 - 97 M060U080 0.90
GLN6-100 A 63 6 25 | 100 | 74 18 - 132 M060U080 1.30
GLN8-65 A 63 8 28 65 39 18 - 97 MO080U100 1.00
GLN8-100 A 63 8 28 | 100 | 74 18 - 132 MO080U100 1.40
GLN10-65 A 63 10 35 65 39 20 - 97 M100U120 1.00
GLN10-100 A 63 10 35 | 100 | 74 20 - 132 M100U120 1.50
GLN12-80 A 63 12 42 80 54 | 225 - 112 M120U140 1.70
GLN12-120 A 63 12 42 | 120 | 94 | 225 - 152 M120U140 2.00
GLN16-80 A 63 16 48 80 54 24 - 112 M140U160 1.70
GLN16-120 A 63 16 48 | 120 | 94 24 - 152 M140U160 2.10
GLN20-80 A 63 20 52 80 54 25 - 112 M160U160 1.80
GLN20-120 A 63 20 52 | 120 | %94 25 - 152 M160U160 2.40
GLN25-110 B 63 25 65 | 110 | 84 24 25 | 142 M180Z160P 2.50
GLN25-160 B 63 25 65 | 160 | 134 24 25 | 192 M180Z160P 2.65
GLN32-110 B 63 32 72 | 110 | 84 24 28 | 142 M200Z200P 2.70
GLN32-160 B 63 32 72 | 160 | 134 24 28 | 192 M200Z200P 3.00

12



HSK-A-GLN ] [ = JJ #%
HSK-A-GLN Side-lock Holder

5 R~} Dimension  WEERRT  EE
Specification d2 L1 ‘ ] ‘ ‘ Side-lock GCrew  Weight
HSK100A- GLN6-80 A 100 6 25 80 51 18 - 130 MO060U080 3.00
GLN6-130 A 100 6 25 130 | 131 18 - 180 MO060U080 3.20
GLN8-80 A 100 8 25 80 51 18 - 130 MO080U100 3.20
GLN8-130 A 100 8 25 130 | 131 18 - 180 MO080U100 3.40
GLN10-80 A 100 10 35 80 51 20 - 130 M100U120 3.40
GLN10-130 A 100 10 35 130 | 131 20 - 180 M100U120 3.70
GLN12-80 A 100 12 42 80 51 22.5 - 130 M120U140 3.40
GLN12-130 A 100 12 42 130 | 131 | 225 - 180 M120U140 3.70
GLN16-100 A 100 16 48 100 71 24 - 150 M140U160 3.80
GLN16-160 A 100 16 48 160 71 24 - 210 M140U160 4.10
GLN20-100 A 100 | 20 52 100 | 71 25 - 150 M180Z2160P 3.90
GLN20-160 A 100 | 20 52 160 | 71 25 - 210 M1802160P 3.80
GLN25-100 B 100 | 25 65 100 | 71 24 25 | 150 M2002200P 4.00
GLN25-160 B 100 | 25 65 160 | 71 24 25 | 210 M2002200P 4.40
GLN32-100 B 100 | 32 72 100 | 71 24 28 | 150 M200Z200P 4.10
GLN32-160 B 100 | 32 72 160 | 71 24 28 | 210 M2002200P 4.50

E: WPREMITH.

Notice: Wrenchs shall be ordered separately.

13



HSK-A-SLNB ] [& 2, JJ 1
HSK-A-SLNB Side-lock Holder

ithe) ~ MEEZIRET EE
Specification i L4 Side-lock GCrew Weight

HSK63A- GLNB6-80 A M060U080
GLNB8-80 A 63 8 28 80 54 18 - 112 MO080U080 1.00
GLNB10-80 A 63 10 35 80 54 20 - 112 M100U120 1.00
GLNB12-90 A 63 12 42 90 64 | 22.5 - 122 M120U140 1.70
GLNB16-100 A 63 16 48 100 | 74 24 - 132 M140U160 1.70
GLNB20-100 A 63 20 52 100 | 74 25 - 132 M160U250 1.80
GLNB25-110 B 63 25 65 110 | 84 24 22 142 M180Z160P 2.50
GLNB32-110 B 63 32 72 110 | 84 24 24 142 M200Z200P 2.70
HSK100A- GLNB6-90 A 100 6 25 90 61 18 - 140 M060U080 3.00
GLNB8-90 A 100 8 28 90 61 18 - 140 MO080U080 3.20
GLNB10-90 A 100 10 35 90 61 20 - 150 M100U120 3.40
GLNB12-100 A 100 12 42 100 | 71 | 225 - 150 M120U140 3.40
GLNB16-100 A 100 16 48 100 | 71 24 - 160 M140U160 3.80
GLNB20-110 A 100 | 20 52 110 | 81 25 - 150 M160U250 3.90
GLNB25-120 B 100 | 25 65 120 | 91 24 22 170 M180Z160P 4.00
GLNB32-120 B 100 | 32 72 120 | 91 24 24 170 M200Z200P 4.10

14



HSK-A-MTA ZXEE TN (B5LEM)
HSK-A-MTA Morse Taper Adapter

i
Specification
HSK50A- MTA1-100 50 25 12.065 100 74 56 125 1.50
MTA2-120 50 32 17.78 120 94 67 145 1.80
MTA3-140 50 40 23.825 140 114 84 165 1.90
HSK63A- MTA1-100 63 25 12.065 100 74 56 132 1.90
MTA2-120 63 32 17.78 120 94 67 152 2.00
MTA3-140 63 40 23.825 140 114 84 172 2.20
MTA4-160 63 48 31.267 160 134 107 192 2.50
HSK100A- MTA1-110 100 25 12.065 110 81 56 160 3.40
MTA2-120 100 32 17.78 120 91 67 170 3.80
MTA3-150 100 40 23.825 150 121 84 200 4.00
MTA4-170 100 48 31.267 170 141 107 220 4.60
MTA5-200 100 63 44.299 200 171 135 250 5.20
HSK-A-GPU Bk X 4l 3L TIH

HSK-A-GPU Drill Chuck Holder

e R~} Dimension \ WEBE =HE
Specification d2 L1 L2 3D Weight
HSK50A- GPU8-120 50 50 8 120 99 55 167 0.05 1.61
HSK63A- | GPU13-150 63 50 13 150 124 55 194 0.05 2.65
GPU16-155 63 57 16 155 129 55 199 0.05 3.12

HSK100A- | GPU13-155 100 50 13 155 130 75 217 0.05 4.23
GPU16-160 100 57 16 160 135 75 222 0.05 4.55

E: BOEERF.

Notice:Wrench is included.

15



HSK-A-FMB “F T 8% TR
HSK-A-FMB Face Mill Holder

ne Bl JX~} Dimension ﬂﬁfﬁiﬂ%ﬂ%ﬂ wE = EE
Specification Figure D d2 d3 L1 L2 L s Washer | Weight
for cutter

HSK50A- FMB22-60 A 50 | 22 | 26 | 48 | 60 | 18 14 | 104 | E100U300 - 1.00
FMB27-60 A 50 | 27 |315| 60 | 60 | 20 16 | 106 | E120U300 FM-1 1.10

HSK63A- FMB22-50 A 63 22 | 26 | 48 | 50 | 18 - 101 | E100U300 - 1.30
FMB22-100 A 63 22 | 26 | 48 | 100 | 18 - 151 | E100U300 - 1.80

FMB27-60 A 63 27 |315| 60 | 60 | 20 16 | 113 | E120U300 FM-1 1.60

FMB27-100 A 63 27 |315| 60 | 100 | 20 16 | 153 | E120U300 FM-1 2.30

FMB32-60 A 63 32 | 41 | 78 | 60 | 22 16 | 116 | E160U350 FM-2 2.00

FMB32-100 A 63 32 | 41 | 78 | 100 | 22 16 | 156 | E160U350 FM-2 2.80

FMB40-60 A 63 | 40 | 48 | 80 | 60 | 25 |20.5| 119 | E200U350 FM-3 2.20

HSK100A- | FMB22-50 A 100 | 22 | 26 | 48 | 50 | 18 14 | 119 | E100U300 - 2.90
FMB22-100 A 100 | 22 | 26 | 48 | 100 | 18 14 | 169 | E100U300 - 3.90

FMB27-50 A 100 | 27 |315| 60 | 50 | 20 16 | 121 | E120U300 FM-1 2.90

FMB27-100 A 100 | 27 |315| 60 | 100 | 20 16 | 171 | E120U300 FM-1 3.70

FMB32-50 A 100 | 32 | 41 | 78 | 50 | 22 16 | 124 |E160Z500-40 - 3.80

FMB32-100 A 100 | 32 | 41 | 78 | 100 | 22 16 | 174 |E160Z500-40 - 4.80

FMB40-60 A 100 | 40 | 48 | 80 | 60 | 25 |20.5| 137 |E200Z500-50 - 4.10

FMB40-100 A 100 | 40 | 48 | 80 | 100 | 25 |20.5| 177 |E200Z500-50 - 4.90

FMB60F-70 B 100 | 60 - 129 | 70 | 25 |101.6| 160 | E160U500 - 5.50

16



BENEEHMaeRRAd

XIAMEN GOLDEN EGRET SPECIAL ALLOY CO,, LTD.

BT Tool System
BT TAR%

BT-DHP &EJIHE

BT-SF #3=7J#% (—iFzt )

BT-GSK SiEf5 ==K I

BT-DSK SiEfE=ER IR

BT-ER S#4 I TIHHE

BT-VER &V RI+MEINF TR

BT-TPN {45 F T

BT-HPM SiEfEE5aMRIk

BT-HPC SiEE=EIMHIFL

BT-GLC ;g iS5k As

BT-GLC i8R A IS EREA

BT-GLN {UE= 7%

BT-MTA BEERH#ETIN (#LEH )

BT-MTB RECHERTIN (1RZ4H0% )

BT-GPU Z {53k TR

BT-FMA FmE#t7Jth ( bt )

BT-FMB EmE#7I# ( Hft )

17



BT-FMA-L EmE#70H ( I<FE )

BT-FMB-L EERTIE (MHSFER ) .

18



BT-DHP /% JIHK
BT-DHP Hydraulic Chuck

R~} Dimension EHER WF HE
Specication D2 ‘ L Vv Suit collet Wrench Weight
BT30- DHP6-70 6 28 45 70 | 275 10 28 M5X0.8 - TO4 0.68
DHP8-70 8 30 45 70 | 275 10 28 M6X1.0 - TO4 0.71
DHP10-75 10 32 45 75 | 325 10 38 M6X1.0 - TO4 0.73
DHP12-75 12 34 45 75 | 375 10 36 M6X1.0 | D12/0D12 TO4 0.78
DHP14-85 14 36 45 85 | 375 10 44 M6X1.0 - TO4 0.83
DHP16-90 16 38 45 90 | 425 10 48 M8X1.0 - TO4 0.92
DHP18-90 18 41 45 90 | 425 10 48 M8X1.0 - TO4 0.95
DHP20-90 20 43 - 90 | 425 10 - M8X1.0 | D20/0D20 TO4 0.98
BT40- DHP6-65 6 28 50 65 | 27.5 10 23 M5X0.8 - TO4 1.26
DHP6-90 6 28 50 90 | 275 10 44 M5X0.8 - TO4 1.42
DHP6-140 6 28 50 140 | 27.5 10 44 M5X0.8 - TO4 2.16
DHP8-65 8 30 50 65 | 27.5| 10 23 M6X1.0 - TO4 1.26
DHP8-90 8 30 50 90 | 27.5| 10 39 M6X1.0 - TO4 1.43
DHP8-140 8 30 50 | 140 | 27.5| 10 44 M6X1.0 - TO4 2.2
DHP10-65 10 32 50 65 | 325 | 10 23 M6X1.0 - T04 1.26
DHP10-90 10 32 50 90 | 32,5 | 10 44 M6X1.0 - T04 1.45
DHP10-140 10 32 50 140 | 32.5 10 44 M6X1.0 - TO4 2.4
DHP12-65 12 34 50 65 | 37.5 10 23 M6X1.0 | D12/0D12 TO4 1.26
DHP12-90 12 34 50 90 | 375 10 44 M6X1.0 | D12/0D12 TO4 1.46
DHP12-140 12 34 50 140 | 37.5 10 44 M6X1.0 | D12/0D12 TO4 2.6
DHP14-65 14 36 50 65 | 37.5 10 23 M6X1.0 - TO4 1.26
DHP14-90 14 36 50 90 | 375 10 44 M6X1.0 - TO4 1.48
DHP14-140 14 36 50 140 | 37.5 10 44 M6X1.0 - TO4 2.8
DHP16-65 16 38 50 65 | 425 | 10 23 M8X1.0 - TO4 1.27
DHP16-90 16 38 50 90 | 425 | 10 48 M8X1.0 - TO4 1.5
DHP16-140 | 16 38 50 | 140 | 425 | 10 48 M8X1.0 - TO4 2.8
DHP18-75 18 41 50 75 | 425 10 30 M8X1.0 - TO4 1.35
DHP18-90 18 41 50 90 | 425 | 10 48 M8X1.0 - T04 1.53
DHP18-140 18 41 50 140 | 42.5 10 48 M8X1.0 - TO4 2.85
DHP19-75 19 43 50 75 101 10 30 M8X1.0 - TO4 1.38
DHP20-75 20 43 50 75 | 42.5 10 30 M8X1.0 | D20/0D20 TO4 1.4
DHP20-90 20 43 50 90 | 425 10 48 M8X1.0 | D20/0D20 TO4 1.56
DHP20-140 20 43 50 140 | 42.5 10 48 M8X1.0 | D20/0D20 TO4 2.89
DHP24-75 24 63 - 75 94 10 - M16X1.0 - TO5 2.02
DHP25-100 25 57 - 100 51 10 73 M16X1.0 - TO5 2.05

19



BT-DHP YL I
BT-DHP Hydraulic Chuck

R~} Dimension EHER WF HE

Specication Suit collet  Wrench Weight
BT40- DHP25-135 | 25 57 - 135 | 51 10 | 108 | M16X1.0 - T05 2.75
DHP32-105 | 32 63 - 100 | 55 10 - M16X1.0 | D32/0D32 TO5 2.28
DHP32-135 | 32 63 - 135 | 55 10 - M16X1.0 | D32/0D32 TO5 2.95
BT50- DHP6-90 6 28 50 90 | 275 | 10 23 M5X0.8 - T04 4.03
DHP6-120 6 28 50 120 | 27.5 10 44 M5X0.8 - TO4 4.35
DHP6-140 6 28 50 140 | 27.5 10 44 M5X0.8 - TO4 4.65
DHP8-90 8 30 50 90 | 27.5 10 23 M6X1.0 - TO4 4.05
DHP8-120 8 30 50 120 | 27.5 10 40 M6X1.0 - TO4 4.42
DHP8-140 8 30 50 140 | 27.5 10 44 M6X1.0 - TO4 4.68
DHP10-90 10 32 50 90 | 325 10 23 M6X1.0 - TO4 4.06
DHP10-120 10 32 50 120 | 32.5 10 44 M6X1.0 - TO4 441
DHP10-140 | 10 32 50 | 140 | 325 | 10 44 M6X1.0 - TO4 4.71

DHP12-90 12 34 50 90 |375] 10 23 M6X1.0 | D12/0D12 T04 4.07
DHP12-120 | 12 34 50 | 120 | 37.5| 10 44 M6X1.0 | D12/0D12 T04 4.43
DHP12-140 | 12 34 50 | 140 | 375 | 10 44 M6X1.0 | D12/0D12 TO4 4.73

DHP14-90 14 36 50 90 |375] 10 23 M6X1.0 - TO4 4.07
DHP14-120 | 14 36 50 | 120 | 37.5| 10 44 M6X1.0 - TO4 4.43
DHP14-140 | 14 36 50 | 140 | 375 | 10 44 M6X1.0 - TO4 4.72
DHP16-90 16 38 50 90 | 425 | 10 23 M8X1.0 - TO4 4.08
DHP16-120 | 16 38 50 | 120 | 42.5| 10 48 M8X1.0 - TO4 4.43
DHP16-140 | 16 38 50 | 140 | 425 | 10 48 M8X1.0 - TO4 4.73
DHP18-90 18 41 50 90 | 425 | 10 32 M8X1.0 - TO4 4.1
DHP18-120 | 18 41 50 | 120 | 425 | 10 48 M8X1.0 - TO4 4.47
DHP18-140 | 18 41 50 | 140 | 425 | 10 48 M8X1.0 - T04 4.75
DHP20-90 20 43 50 90 |425 | 10 32 M8X1.0 | D20/0D20 T04 4.11
DHP20-120 | 20 43 50 | 120 | 425 | 10 48 M8X1.0 | D20/0D20 T04 4.5
DHP20-140 | 20 43 50 | 140 | 425 | 10 48 M8X1.0 | D20/0D20 TO4 4.79
DHP25-105 | 25 57 - 105 | 51 10 67 | M16X1.0 - TO5 4.6
DHP25-150 | 25 57 - 150 | 51 10 | 112 | M16X1.0 - TO5 54
DHP32-115 | 32 63 - 115 | 55 10 77 | M16X1.0 | D32/0D32 TO5 4.85
DHP32-150 | 32 63 - 150 | 55 10 | 112 | M16X1.0 | D32/0D32 TO5 5.67

E: HBOAERF, WRFAMITE.

Notice:Wrench is included,while collet shall be ordered separately.

20



¥ & /Feature

WDHP TR RFIHE/HE. BEERIMI, WEIBRE.
W3 4% E: G2.5; 20,000 rpm.

3D 442 BE3) 0.003 mm.

M For high-speed and high precision cutting;

M Balanced: G2.5; 20,000 rpm;

B Runout (X3D): < 0.003 mm.

21



BT-SF #2E 71/ (— 40
BT-SF Shrink Fit Holder

L L2(Max)
< L3y
/,%V 7 - o
=i _ - 5 = 'CIID|G|
1 4.5°

P JR~I' Dimension
Specification d D2 L1 L2(Max) L3 (Min) Weight

BT30- SF3-80 3 10 10 80 - 9 0.35
SF4-80 4 10 10 80 - 12 0.40
SF5-80 5 10 10 80 - 15 0.43
SF6-80 6 21 27 80 28 18 0.45
SF8-80 8 21 27 80 34 24 0.50
SF10-80 10 24 32 80 40 30 0.55
SF12-80 12 24 32 80 40 30 0.62
SF14-80 14 27 34 80 42 32 0.65
SF16-80 16 27 34 80 42 32 0.68
SF18-80 18 33 42 80 50 40 0.71
SF20-90 20 33 42 90 50 40 0.75
BT40- SF3-90 3 10 10 90 - 9 1.00
SF4-90 4 10 10 90 - 12 1.10
SF5-90 5 10 10 90 - 15 1.00
SF6-90 6 21 27 90 28 18 1.15
SF6-130 6 21 27 130 28 18 1.20
SF6-160 6 21 27 160 28 18 1.40
SF6-200 6 21 27 200 28 18 1.90
SF8-90 8 21 27 90 34 24 1.15
SF8-130 8 21 27 130 34 24 1.30
SF8-160 8 21 27 160 34 24 1.50
SF8-200 8 21 27 200 34 24 1.90
SF10-90 10 24 32 90 40 30 1.20
SF10-130 10 24 32 130 40 30 1.50
SF10-160 10 24 32 160 40 30 1.80
SF10-200 10 24 32 200 40 30 1.90
SF12-90 12 24 32 90 40 30 1.30
SF12-130 12 24 32 130 40 30 1.60
SF12-160 12 24 32 160 40 30 1.80
SF12-200 12 24 32 200 40 30 2.00
SF14-90 14 27 34 90 42 32 1.30
SF14-130 14 27 34 130 42 32 1.60

22



BT-SF #IETIW (—#0)
BT-SF Shrink Fit Holder

L1
3 L 2(Max) B
L 3(Min)
e am———

1

i 4.5°

iRy R~} Dimension B2E
Specification D2 L1 L2 (Max) L3 (Min) Weight

BT40- SF14-160 14 27 34 160 42 32 1.80
SF14-200 14 27 34 200 42 32 2.00
SF16-90 16 27 34 90 42 32 1.40
SF16-130 16 27 34 130 42 32 1.70
SF16-160 16 27 34 160 42 32 1.95
SF16-200 16 27 34 200 42 32 2.20
SF18-90 18 33 42 90 50 40 1.50
SF18-130 18 33 42 130 50 40 1.80
SF18-160 18 33 42 160 50 40 2.00
SF18-200 18 33 42 200 50 40 2.30
SF20-90 20 33 42 90 50 40 1.55
SF20-130 20 33 42 130 50 40 1.85
SF20-160 20 33 42 160 50 40 2.05
SF20-200 20 33 42 200 50 40 2.35
SF25-100 25 44 53 100 55 45 1.65
SF25-130 25 44 53 130 55 45 1.90
SF25-160 25 44 53 160 55 45 2.20
SF25-200 25 44 53 200 55 45 2.50
SF32-100 32 44 53 100 60 50 2.00
SF32-130 32 44 53 130 60 50 2.30
SF32-160 32 44 53 160 60 50 2.60
BT50- SF6-100 6 21 27 100 28 18 3.70
SF6-130 6 21 27 130 28 18 3.80
SF6-160 6 21 27 160 28 18 3.88
SF6-200 6 21 27 200 28 18 4.00
SF8-100 8 21 27 100 34 24 3.60
SF8-130 8 21 27 130 34 24 3.70
SF8-160 8 21 27 160 34 24 3.90
SF8-200 8 21 27 200 34 24 4.00
SF10-100 10 24 32 100 40 30 3.65
SF10-130 10 24 32 130 40 30 3.78
SF10-160 10 24 32 160 40 30 4.00

23



BT-SF #IETIME (— 450
BT-SF Shrink Fit Holder

L1

- L

< Lavax)
=L3{Min) o

- — - - _ <O ST

1

145

iRy R~} Dimension B2E
Specification D2 L1 L2(Max) L3 (Min) Weight

SF10-200 10 24 32 200 40 30 4.15
SF12-100 12 24 32 100 40 30 3.70
SF12-130 12 24 32 130 40 30 3.80
SF12-160 12 24 32 160 40 30 4.10
SF12-200 12 24 32 200 40 30 4.25
SF14-100 14 27 34 100 42 32 3.70
SF14-130 14 27 34 130 42 32 3.80
SF14-160 14 27 34 160 42 32 4.10
SF14-200 14 27 34 200 42 32 4.25
SF16-100 16 27 34 100 42 32 3.75
SF16-130 16 27 34 130 42 32 3.88
SF16-160 16 27 34 160 42 32 4.20
SF16-200 16 27 34 200 42 32 4.50
BT50- SF18-100 18 33 42 100 50 40 3.75
SF18-130 18 33 42 130 50 40 3.88
SF18-160 18 33 42 160 50 40 4.20
SF18-200 18 33 42 200 50 40 4.50
SF20-100 20 33 42 100 50 40 3.80
SF20-130 20 33 42 130 50 40 4.00
SF20-160 20 33 42 160 50 40 4.30
SF20-200 20 33 42 200 50 40 4.60
SF25-100 25 44 53 100 55 45 3.82
SF25-130 25 44 53 130 55 45 4.05
SF25-160 25 44 53 160 55 45 4.33
SF25-200 25 44 53 200 55 45 4.65
SF32-100 32 44 53 100 60 50 4.00
SF32-130 32 44 53 130 60 50 4.40
SF32-160 32 44 53 160 60 50 4.70
SF32-200 32 44 53 200 60 50 5.00

¥/ [ Feature
W3 P4 5E: G2.5; 25,000 rpm. M Balanced: G2.5; 25,000 rpm;
W 3D &4 M Bkzh 0.003 mm. ERunout (X3D): < 0.003 mm.

24



BT-GSK =846 2 & K T
BT-GSK High Precision Chuck

BE R~} Dimension \ EH AR 2B
Specification d2 ‘ d3 L ‘ Suit collet Weight
BT30- GSK6-70 A 46 19.5 20 - 118.4 70 Mé6x1 DSK6 0.45
GSK6-100 A 46 19.5 20 - 148.4 100 M6x1 DSK6 0.64
GSK10-70 A 46 27 27.5 - 118.4 70 M10x1.5 DSK10 0.46
GSK10-100 A 46 27 27.5 - 148.4 100 M10x1.5 DSK10 0.70
GSK16-70 A 46 40 40.5 - 118.4 70 M16x2 DSK16 0.70
GSK16-100 A 46 40 40.5 - 148.4 100 M16x2 DSK16 1.00
GSK16-120 A 46 40 40.5 - 168.4 120 M16x2 DSK16 1.25
GSK16-150 A 46 40 40.5 - 198.4 150 M16x2 DSK16 1.35
GSK20-70 A 46 48 48.5 - 118.4 70 M16x2 DSK20 0.75
GSK20-100 A 46 48 48.5 - 148.4 100 M16x2 DSK20 1.15
GSK25-100 A 46 55 55 - 148.4 100 M20x2 DSK25 1.20
BT40- GSK6-70 A 63 19.5 20 - 135.4 70 M6x1 DSK6 1.05
GSK6-100 A 63 19.5 20 - 165.4 100 M6x1 DSK6 1.25
GSK6-120 A 63 19.5 20 - 185.4 120 M6x1 DSK6 1.39
GSK6-150L B 63 19.5 20 26.4 215.4 150 M6x1 DSK6 1.55
GSK10-70 A 63 27 27.5 - 135.4 70 M10x1.5 DSK10 1.10
GSK10-100 A 63 27 27.5 - 165.4 100 M10x1.5 DSK10 1.30
GSK10-120 A 63 27 27.5 - 185.4 120 M10x1.5 DSK10 1.42
GSK10-150 A 63 27 27.5 - 2154 150 M10x1.5 DSK10 1.55
GSK10-200L B 63 27 27.5 33.7 265.4 200 M10x1.5 DSK10 1.85
GSK16-70 A 63 40 40.5 - 1354 70 M16x2 DSK16 1.21
GSK16-100 A 63 40 40.5 - 165.4 100 M16x2 DSK16 1.42
GSK16-120 A 63 40 40.5 - 185.4 120 M16x2 DSK16 1.61
GSK16-150 A 63 40 40.5 - 215.4 150 M16x2 DSK16 1.80
GSK16-200L B 63 40 40.5 45.7 | 265.4 200 M16x2 DSK16 1.95
GSK20-70 A 63 48 48.5 - 135.4 70 M16x2 DSK20 1.52
GSK20-100 A 63 48 48.5 - 165.4 100 M16x2 DSK20 1.68
GSK20-120 A 63 48 48.5 - 185.4 120 M16x2 DSK20 1.90
GSK20-150 A 63 48 48.5 - 215.4 150 M16x2 DSK20 2.10
GSK20-200L B 63 48 48.5 55.7 265.4 200 M16x2 DSK20 2.30
GSK25-100 A 63 55 55 - 165.4 100 M20x2 DSK25 1.81

25



BT-GSK /=g ks & ] R T D
BT-GSK High Precision Chuck

25 PN R~} Dimension \ EHE X 2B
Specification Figure ‘ d3 L ‘ Suit collet Weight

BT40- | GSK25-120 A 63 55 55 - 185.4 | 120 M20x2 DSK25 2.05
GSK25-150 A 63 55 55 - 2154 | 150 M20x2 DSK25 2.30
GSK25-200L B 63 55 55 59.9 | 265.4 | 200 M20x2 DSK25 2.65

BT50- | GSK10-105 A 100 27 27.5 - 206.8 | 105 | M10x1.5 DSK10 3.78
GSK10-135 A 100 27 27.5 - 236.8 | 135 | M10x1.5 DSK10 4.00
GSK10-165 A 100 27 27.5 - 266.8 | 165 | M10x1.5 DSK10 4.33
GSK10-200L B 100 27 27.5 35.2 | 301.8 | 200 | M10x1.5 DSK10 4.75
GSK16-100 A 100 40 40.5 - 201.8 | 100 M16x2 DSK16 3.93
GSK16-125 A 100 40 40.5 - 226.8 | 125 M16x2 DSK16 4.17
GSK16-150 A 100 40 40.5 - 251.8 | 150 M16x2 DSK16 4.49
GSK16-200L B 100 40 40.5 48.4 | 301.8 | 200 M16x2 DSK16 5.50
GSK16-250L B 100 40 40.5 48.4 | 351.8 | 250 M16x2 DSK16 6.50
GSK20-100 A 100 48 48.5 - 201.8 | 100 M16x2 DSK20 4.10
GSK20-125 A 100 48 48.5 - 226.8 | 125 M16x2 DSK20 4.32
GSK20-150 A 100 48 48.5 - 251.8 | 150 M16x2 DSK20 4.65
GSK20-200 A 100 48 48.5 - 301.8 | 200 M16x2 DSK20 5.75
GSK20-250L B 100 48 48.5 554 | 351.8 | 250 M16x2 DSK20 6.78
GSK20-300L B 100 48 48.5 55.4 | 401.8 | 300 M16x2 DSK20 7.80
GSK25-100 A 100 55 55 - 201.8 | 100 M20x2 DSK25 4.10
GSK25-125 A 100 55 55 - 226.8 | 125 M20x2 DSK25 4.62
GSK25-150 A 100 55 55 - 251.8 | 150 M20x2 DSK25 5.10
GSK25-200 A 100 55 55 - 301.8 | 200 M20x2 DSK25 5.81
GSK25-250L B 100 55 55 614 | 351.8 | 250 M20x2 DSK25 6.85
GSK25-300L B 100 55 55 61.4 | 401.8 | 300 M20x2 DSK25 8.00

E: WREWRPFTEMAN, ATGEEC A O KSRGS T H K URIE, LB

Notice: Collets and wrenchs shall be ordered separately.

¥ =/ Feature
W5 % %E: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm;
W3D 42 MmBk3h 0.005 mm. ERunout (X3D): < 0.005 mm.

26



BT-DSK =8 % % R T
BT-DSK High Precision Chuck

BS EHER 28
Specification i Suit collet Weight
BT30- DSK6-70 A 46 20 20 - 118.4 70 M6x1 DSK6 0.45
DSK6-100 A 46 20 20 - 148.4 | 100 M6x1 DSK6 0.64
DSK10-70 A 46 27.5 27.5 - 118.4 70 M10x1.5 DSK10 0.46
DSK10-100 A 46 27.5 27.5 - 148.4 100 M10x1.5 DSK10 0.70
DSK16-70 A 46 40.5 40.5 - 118.4 70 M16x2 DSK16 0.70
DSK16-100 A 46 40.5 40.5 - 148.4 100 M16x2 DSK16 1.00
DSK16-120 A 46 40.5 40.5 - 168.4 120 M16x2 DSK16 1.25
DSK16-150 A 46 40.5 40.5 - 198.4 150 M16x2 DSK16 1.35
DSK20-70 A 46 48.5 48.5 - 118.4 70 M16x2 DSK20 0.75
DSK20-100 A 46 48.5 48.5 - 148.4 100 M16x2 DSK20 1.15
DSK25-100 A 46 55 55 - 148.4 100 M20x2 DSK25 1.20
BT40- DSK6-70 A 63 20 20 - 135.4 70 M6x1 DSK6 1.05
DSK6-100 A 63 20 20 - 165.4 | 100 M6x1 DSK6 1.25
DSK6-120 A 63 20 20 - 185.4 | 120 M6x1 DSK6 1.39
DSK6-150L B 63 20 20 26.4 215.4 150 M6x1 DSK6 1.55
DSK10-70 A 63 27.5 27.5 - 1354 70 M10x1.5 DSK10 1.10
DSK10-100 A 63 27.5 27.5 - 165.4 100 M10x1.5 DSK10 1.30
DSK10-120 A 63 27.5 27.5 - 185.4 120 M10x1.5 DSK10 1.42
DSK10-150 A 63 27.5 27.5 - 215.4 150 M10x1.5 DSK10 1.55
DSK10-200L B 63 27.5 27.5 33.7 265.4 200 M10x1.5 DSK10 1.85
DSK16-70 A 63 40.5 40.5 - 1354 70 M16x2 DSK16 1.21
DSK16-100 A 63 40.5 40.5 - 165.4 100 M16x2 DSK16 1.42
DSK16-120 A 63 40.5 40.5 - 185.4 120 M16x2 DSK16 1.61
DSK16-150 A 63 40.5 | 40.5 - 2154 | 150 M16x2 DSK16 1.80
DSK16-200L B 63 40.5 | 40.5 | 45.7 | 265.4 | 200 M16x2 DSK16 1.95
DSK20-70 A 63 48.5 | 48.5 - 135.4 70 M16x2 DSK20 1.52
DSK20-100 A 63 48.5 | 48.5 - 165.4 | 100 M16x2 DSK20 1.68
DSK20-120 A 63 48.5 | 48.5 - 185.4 | 120 M16x2 DSK20 1.90
DSK20-150 A 63 48.5 | 48.5 - 2154 | 150 M16x2 DSK20 2.10

27



BT-DSK =i AE & & TIW

BT-DSK High Precision Chuck

BS EHER 28
Specification Suit collet Weight
BT40- | DSK20-200L B 63 48.5 | 48.5 55.7 | 265.4 | 200 M16x2 DSK20 2.30
DSK25-100 A 63 55 55 - 165.4 | 100 M20x2 DSK25 1.81
DSK25-120 A 63 55 55 - 185.4 120 M20x2 DSK25 2.05
DSK25-150 A 63 55 55 - 215.4 150 M20x2 DSK25 2.30
DSK25-200L B 63 55 55 59.9 | 265.4 | 200 M20x2 DSK25 2.65
BT50- DSK10-105 A 100 27.5 27.5 - 206.8 105 M10x1.5 DSK10 3.78
DSK10-135 A 100 27.5 27.5 - 236.8 135 M10x1.5 DSK10 4.00
DSK10-165 A 100 27.5 27.5 - 266.8 165 M10x1.5 DSK10 4.33
DSK10-200L B 100 27.5 27.5 35.2 301.8 200 M10x1.5 DSK10 4.75
DSK16-100 A 100 40.5 40.5 - 201.8 100 M16x2 DSK16 3.93
DSK16-125 A 100 40.5 40.5 - 226.8 125 M16x2 DSK16 4.17
DSK16-150 A 100 40.5 | 40.5 - 251.8 | 150 M16x2 DSK16 4.49
DSK16-200L B 100 40.5 | 405 | 48.4 | 301.8 | 200 M16x2 DSK16 5.50
DSK16-250L B 100 40.5 | 40.5 | 48.4 | 351.8 | 250 M16x2 DSK16 6.50
DSK20-100 A 100 48.5 | 48.5 - 201.8 | 100 M16x2 DSK20 4.10
DSK20-125 A 100 48.5 | 48.5 - 226.8 | 125 M16x2 DSK20 4.32
DSK20-150 A 100 48.5 | 48.5 - 251.8 | 150 M16x2 DSK20 4.65
DSK20-200 A 100 48.5 48.5 - 301.8 200 M16x2 DSK20 5.75
DSK20-250L B 100 48.5 48.5 55.4 351.8 250 M16x2 DSK20 6.78
DSK20-300L B 100 48.5 48.5 55.4 401.8 300 M16x2 DSK20 7.80
DSK25-100 A 100 55 55 - 201.8 100 M20x2 DSK25 4.10
DSK25-125 A 100 55 55 - 226.8 125 M20x2 DSK25 4.62
DSK25-150 A 100 55 55 - 251.8 150 M20x2 DSK25 5.10
DSK25-200 A 100 55 55 - 301.8 | 200 M20x2 DSK25 5.81
DSK25-250L B 100 55 55 61.4 | 351.8 | 250 M20x2 DSK25 6.85
DSK25-300L B 100 55 55 61.4 | 401.8 | 300 M20x2 DSK25 8.00

E: ARERFFT R AN, KIRIE 5 35T KR IE 7 LA .

Notice: Collets and wrenchs shall be ordered separately.

%55 /[ Feature
W35 %E: G2.5; 20,000 rpm. MBalanced: G2.5; 20,000 rpm;
W 3D 442 Bk3h 0.005 mm. ERunout (X3D): < 0.005 mm.

28



BT-ER #1418 & TJHK
BT-ER Spring Collet Chuck

d1

A

A

JR~} Dimension

d3 L1
BT30- ER16-70 28 16 28 70 118.4 M10X1.5P 0.52
ER16-100 28 16 28 100 148.4 M10X1.5P 0.64
ER16-120 28 16 28 120 168.4 M10X1.5P 0.73
ER20-70 34 20 34 70 118.4 M12X1.75P 0.57
ER20-100 34 20 34 100 148.4 M12X1.75P 0.76
ER20-135 34 20 34 135 183.4 M12X1.75P 0.99
ER25-70 42 25 42 70 118.4 M16X2.0P 0.66
ER32-70 42 25 42 100 148.4 M16X2.0P 0.98
ER25-100 42 25 42 135 183.4 M16X2.0P 1.31
ER25-135 50 32 50 70 118.4 M16X2.0P 0.72
ER32-100 50 32 50 100 148.4 M16X2.0P 1.14
ER40-80 63 40 63 80 128.4 M16X2.0P 1.20
BT40- ER16-70 28 16 28 70 1354 M10X1.5P 1.08
ER16-100 28 16 28 100 165.4 M10X1.5P 1.21
ER16-125 28 16 28 125 190.4 M10X1.5P 1.30
ER16-150 28 16 28 150 2154 M10X1.5P 1.44
ER20-70 34 20 34 70 1354 M12X1.75P 1.12
ER20-100 34 20 34 100 170.4 M12X1.75P 1.33
ER20-125 34 20 34 125 190.4 M12X1.75P 1.48
ER20-150 34 20 34 150 215.4 M12X1.75P 1.65
ER25-70 42 25 42 70 135.4 M16X2.0P 1.22
ER25-100 42 25 42 100 165.4 M16X2.0P 1.49
ER25-125 42 25 42 125 190.4 M16X2.0P 1.71
ER25-150 42 25 42 150 2154 M16X2.0P 1.97
ER32-70 50 32 50 70 1354 M16X2.0P 1.27
ER32-100 50 32 50 100 165.4 M16X2.0P 1.70
ER32-150 50 32 50 150 215.4 M16X2.0P 2.39
ER32-200 50 32 50 200 265.4 M16X2.0P 3.12
ER40-80 63 40 63 80 145.4 M16X2.0P 1.62
ER40-100 63 40 63 100 165.4 M16X2.0P 2.08
ER40-120 63 40 63 120 185.4 M16X2.0P 2.55
ER40-150 63 40 63 150 215.4 M16X2.0P 3.23

29



BT-ER H & K TR
BT-ER Spring Collet Chuck

piUg=) JR~} Dimension
Specification d3 L1
BT50- ER16-70 28 16 28 70 171.8 M10X1.5P 3.67
ER16-100 28 16 28 100 201.8 M10X1.5P 3.77
ER16-135 28 16 28 135 236.8 M10X1.5P 3.95
ER16-165 28 16 28 165 266.8 M10X1.5P 4.04
ER20-70 34 20 34 70 171.8 M12X1.75P 3.66
ER20-100 34 20 34 100 201.8 M12X1.75P 3.75
ER20-135 34 20 34 135 236.8 M12X1.75P 4.08
ER20-150 34 20 34 150 251.8 M12X1.75P 4.22
ER20-200 34 20 34 200 301.8 M12X1.75P 4.66
ER20-250 34 20 34 250 351.8 M12X1.75P 5.16
ER25-70 42 25 42 70 171.8 M16X2.0P 3.64
ER25-100 42 25 42 100 201.8 M16X2.0P 4.02
ER25-125 42 25 42 125 226.8 M16X2.0P 4.26
ER25-150 42 25 42 150 251.8 M16X2.0P 4.54
ER25-200 42 25 42 200 301.8 M16X2.0P 5.01
ER25-250 42 25 42 250 351.8 M16X2.0P 5.52
ER32-80 50 32 50 80 181.8 M16X2.0P 3.80
ER32-100 50 32 50 100 201.8 M16X2.0P 4.07
ER32-120 50 32 50 120 221.8 M16X2.0P 4.35
ER32-150 50 32 50 150 251.8 M16X2.0P 4.82
ER32-200 50 32 50 200 301.8 M16X2.0P 5.32
ER32-250 50 32 50 250 351.8 M16X2.0P 5.92
ER40-80 63 40 63 80 181.8 M20X2.0P 3.93
ER40-100 63 40 63 100 201.8 M20X2.0P 4.38
ER40-120 63 40 63 120 221.8 M20X2.0P 4.86
ER40-150 63 40 63 150 251.8 M20X2.0P 5.51

TE: ARAERFFEMITIE L.

Notice: Collets and wrenchs shall be ordered separately.

30



BT-VER REABAMEBF TIH
BT-VER Tapping Chuck

BE R~} Dimension BUFReT fFFEKFT
Specification L F1 F2 Tapping capacity  Suit extender
BT40- VER16-61 43.5 20 61 0.2 1 M3-M12 VER16-M24 1.05
VER20-72 52 25 72 0.2 1 M5-M16 VER20-M26 1.20
VER25-82 60 32 82 0.2 1 M6-M20 VER25-M28 1.35
VER32-98 72 40 98 0.2 1 M10-M24 VER32-M30 1.68
VER40-107 87 50 107 0.2 1 M14-M33 VER40-M32 1.95
BT50- VER16-72 43.5 20 72 0.2 1 M3-M12 VER16-M24 3.55
VER20-72 52 25 83 0.2 1 M5-M16 VER20-M26 3.45
VER25-93 60 32 93 0.2 1 M6-M20 VER25-M28 3.88
VER32-98 72 40 109 0.2 1 M10-M24 VER32-M30 4.22
VER40-107 87 50 124 0.2 1 M14-M33 VER40-M32 4.65

F: ERANFBFFEMITE.

Notice: Collets and wrenchs shall be ordered separately.

¥ 5/ Feature

W EERELHEFHFH 4 80%LL . MTap tool life increased by 80% and above;
WA RRE M T A=K 2-4 5. MWork efficiency increased 2 to 4 times;
BARRFERE MM LHEESHEE. MBetter surface quality;

W] ER L LR X KFF. MWith ER tapping collet;

B FH K&K E . MBest choice for squeeze.

W52 k.

31



BT-TPN #1845 BUF T
BT-TPN Tapping Chuck With High Rigidity

— ’: _-Fl Fi._

BEARR BFRE HE

Specication Suit collet | Tapping capacity Weight
BT30- TPN316 50 10 20 111.6 162 TPD316 M3-M16 0.75
TPN830 66 10 25 148.6 199 TPD830 M8-M30 0.80
BT40- TPN316 50 10 20 101 168 TPD316 M3-M16 1.56
TPN830 66 10 25 141 208 TPD830 M8-M30 2.62
BT50- TPN316 50 10 20 118 222.8 TPD316 M3-M16 4.24
TPN830 66 10 25 130.2 235 TPD830 M8-M30 4.77

E: fARFRMITI.

Notice: Collets shall be ordered separately.

32



BT-HPM idhs 2 58 /1 gk 71 ek
BT-HPM High Speed Milling Chuck

R~} Dimension EH X HE
Specification d Suit collet Weight

BT30- HPM16-70 3-16 46 16 70 GC16 1.40
HPM20-75 6-20 55 20 75 GC20 1.80

BT40- HPM16-70 3-16 46 16 70 GC16 1.60
HPM16-105 3-16 46 16 105 GCl6 1.80

HPM16-135 3-16 46 16 135 GCl6 2.30

HPM20-80 6-20 55 20 80 GC20 2.40

HPM20-105 6-20 55 20 105 GC20 2.50

HPM20-135 6-20 55 20 135 GC22 3.90

BT50- HPM16-90 6-32 68 32 105 GC32 4.10
HPM16-110 6-32 68 32 135 GC32 4.30

HPM16-135 3-16 46 16 90 GCl6 4.50

HPM16-150 3-16 46 16 110 GCl6 2.80

HPM32-105 3-16 46 16 135 GC16 4.50

HPM32-135 3-16 46 16 150 GC16 2.80

HPM20-105 6-20 55 20 105 GC20 3.00

HPM20-135 6-20 55 20 135 GC20 4.70

HPM20-150 6-20 55 20 150 GC20 4.90

HPM32-110 6-32 68 32 110 GC32 5.20

HPM32-135 6-32 68 32 135 GC32 5.90

HPM32-165 6-32 68 32 165 GC32 6.60

HE: SRR TR R MITI.

Notice: Collets and wrenchs shall be ordered separately.

%55 /[ Feature
W35 %E: G2.5; 20,000 rpm. M Balanced: G2.5; 20,000 rpm;
W3D 442w Bk3) 0.02 mm. ERunout (X3D): < 0.02 mm.

33



BT-HPC =A% g 719k
BT-HPC High-speed Milling Chuck

P =) R~} Dimension & F i e BE
Specification d Suit collet Weight

BT30- HPC16-70 3-16 46 16 70 GC16 1.40
HPC20-75 6-20 51.5 20 75 GC20 1.80

BT40- HPC16-70 3-16 46 16 70 GC16 1.60
HPC16-105 3-16 46 16 105 GCl6 1.80

HPC16-135 3-16 46 16 135 GCl6 2.30

HPC20-80 6-20 51.5 20 80 GC20 2.40

HPC20-105 6-20 51.5 20 105 GC20 2.50

HPC20-135 6-20 51.5 20 135 GC20 2.80

HPC32-105 6-32 70.5 32 105 GC32 2.80

HPC32-135 6-32 70.5 32 135 GC32 3.00

BT50- HPC16-90 3-16 46 16 90 GC1l6 3.90
HPC16-110 3-16 46 16 110 GC1l6 4.10

HPC16-135 3-16 46 16 135 GC16 4.30

HPC16-150 3-16 46 16 150 GC16 4.50

HPC20-105 6-20 51.5 20 105 GC20 4.50

HPC20-135 6-20 51.5 20 135 GC20 4.70

HPC20-150 6-20 51.5 20 150 GC20 4.90

HPC32-110 6-32 70.5 32 110 GC32 5.20

HPC32-135 6-32 70.5 32 135 GC32 5.90

HPC32-165 6-32 70.5 32 165 GC32 6.60

E: RUAERT, FERFE AT

Notice:Wrench is included,while collet is to be ordered separately.
Y55/ Feature

W31 %E: G6.3; 15,000 rpm. M Balanced: G6.3; 15,000 rpm;
W3D 442w Bk3) 0.02 mm. ERunout (X3D): < 0.02 mm.

34



BT-GLC 5& /y i e 44k
BT-GLC Power Milling Chuck For Heavy Duty

! — —

it

— I//// - T\’EUIQ

R= S/ R~} Dimension & F i Je HE
Specification ‘ d Suit collet Weight

BT30- GLC20-75 6-20 51.5 20 75 GC20 1.59
GLC20-100 6-20 51.5 20 100 GC20 1.73

BT40- GLC20-80 6-20 51.5 20 80 GC20 1.85
GLC20-100 6-20 51.5 20 100 GC20 211

GLC20-135 6-20 51.5 20 135 GC32 2.65

GLC32-105 6-32 70.5 32 105 GC32 2.28

GLC32-135 6-32 70.5 32 135 GC32 2.87

BT50- GLC20-105 6-20 51.5 20 105 GC20 4.30
GLC20-150 6-20 51.5 20 150 GC20 5.83

GLC32-110 6-32 70.5 32 110 GC32 4.52

GLC32-135 6-32 70.5 32 135 GC32 5.44

GLC32-165 6-32 70.5 32 165 GC32 6.19

GLC32-200 6-32 70.5 32 200 GC32 6.95

GLC42-115 6-42 86 42 115 GC42 5.50

GLC42-135 6-42 86 42 135 GC42 6.43

GLC42-165 6-42 86 42 165 GC42 7.65

E: RO ERT, FRFLAMITE.

Notice:Wrench is included,while collet shall be ordered separately.

¥/ Feature

W 7R VA 220 HREPIREREF LR BRARF T o

W T B R SR T AR R

WL BT RN TR A LI T AR I B E LRI T, B35 0.02mm.

B The tool holder uses four special layers with 220 pieces bearing arranged in particular.

B It can reduce the locking resistanced and also show best performance on heavy cutting.

M The usual length of power milling chuck show that the highest runout accuracy can reach to 0.02mm.

BT-GLC 52 I R A ERA
BT-GLC Power Chuck Kit
S Ak HE EE
Specication Collet PCS/SET Weight
BT40- | GLC20-100-5PCS GC20-6,8,10,12,16 5 7.30
GLC32-105-7PCS GC32-6,8,10,12,16,20,25 7 7.80
BT50- | GLC20-105-5PCS GC20-6,8,10,12,16 5 7.50
GLC32-110-7PCS GC32-6,8,10,12,16,20,25 7 8.40
GLC42-115-8PCS | GC42-6,8,10,12,16,20,25,32 8 11.40

35



BT-GLN ] [& = 714"
BT-GLN Side-lock Holder

‘L3HL§-:
:
] - _ ] \\1 | s i
Lu ]
/ | - L X
D Ll
— & Lalgl
M /_/ 7z /IHLE@IIE . %.l E
!
- Ll -
L -
BE L3N JR~} Dimension A Th] SR AT B2E
Specification Figure D d2 d3 L1 L2 Side-lock GCrew Weight
BT30- GLN6-60 A 46 6 25 - 60 18 - 108.4 MO060U080 0.55
GLN8-60 A 46 8 28 - 60 18 - 108.4 MO080U100 0.60
GLN10-60 A 46 10 35 - 60 20 - 108.4 M100U120 0.70
GLN12-60 A 46 12 42 - 60 | 22.5 - 108.4 M120U140 0.75
GLN16-75 A 46 16 48 - 75 24 - 1234 M140U160 1.05
GLN20-75 A 46 20 52 - 75 25 - 123.4 M160U160 1.10
GLN25-90 A 46 25 65 - 90 24 25 | 1384 M180Z180P 1.70
BT40- GLN6-50 A 63 6 25 - 50 18 - 115.4 MO060U080 1.10
GLN6-100 A 63 6 25 - 100 | 12 10 | 165.4 MO060U080 1.40
GLN8-50 A 63 8 28 - 50 18 - 1154 MO080U100 1.10
GLN8-100 A 63 8 28 - 100 | 14 12 | 165.4 MO080U100 1.42
GLN10-63 A 63 10 35 - 63 20 - 128.4 M100U100 1.25
GLN10-100 A 63 10 35 - 100 | 15 14 | 165.4 M100U120 1.45
GLN12-63 A 63 12 42 - 63 | 225 - 128.4 M120U140 1.26
GLN12-100 A 63 12 42 - 100 | 20 16 | 165.4 M120U140 1.50
GLN16-63 A 63 16 48 - 63 24 - 128.4 M140U160 131
GLN16-100 A 63 16 48 - 100 | 22 18 | 165.4 M140U160 1.52
GLN20-63 A 63 20 52 - 63 25 - 128.4 M160U160 1.33
GLN20-100 A 63 20 52 - 100 | 25 20 | 1654 M160U160 1.60
GLN25-100 A 63 25 65 - 100 | 24 25 | 1654 M180Z180P 2.32
GLN32-100 A 63 32 72 - 100 | 24 28 | 1654 M200Z180P 3.80
BT50- GLN6-63 A 100 6 25 - 63 18 - 164.8 MO060U080 3.80
GLN6-100 A 100 6 25 - 100 | 12 10 | 201.8 MO060U080 4.20
GLN8-63 A 100 8 28 - 63 18 - 164.8 MO080U100 3.80
GLN8-100 A 100 8 28 - 100 | 14 12 | 201.8 MO080U100 4.22
GLN10-63 A 100 | 10 35 - 63 18 - 164.8 M100U100 3.80
GLN10-100 A 100 | 10 35 - 100 | 15 14 | 201.8 M100U120 4.25

36



BT-GLN ] [&] =X T #A
BT-GLN Side-lock Holder

P

BE L3N JR~} Dimension A Th] SR AT B2E
Specification Figure D d3 L1 L2 Side-lock GCrew Weight
BT50- GLN12-80 A 100 | 12 | 42 - 80 [225| - 181.8 M120U140 3.99
GLN12-125 A 100 | 12 | 42 - 125 | 20 | 16 | 226.8 M120U140 5.00
GLN16-80 A 100 | 16 | 48 - 80 | 24 - 181.8 M140U160 4.03
GLN16-125 A 100 | 16 | 48 - 125 | 22 | 18 | 226.8 M140U160 5.20
GLN16-165L B 100 | 16 | 48 | 53 | 165 | 22 | 18 | 266.8 M140U160 6.30
GLN20-80 A 100 | 20 52 - 80 25 - 181.8 M160U160 4.03
GLN20-125 A 100 | 20 52 - 125 | 25 20 | 226.8 M160U160 5.30
GLN20-165L B 100 | 20 52 57 | 165 | 25 20 | 266.8 M160U160 6.35
GLN20-210L B 100 | 20 52 59 | 210 | 25 20 | 316.8 M160U160 7.25
GLN25-100 A 100 | 25 65 - 100 | 24 25 | 201.8 M180Z180P 4.62
GLN25-165L B 100 | 25 | 65 | 70 | 165 | 24 | 25 | 266.8 M180Z180P 6.63
GLN25-210L B 100 | 25 | 65 | 70 | 210 | 24 | 25 | 311.8 M180Z180P 7.30
GLN32-105 A 100 | 32 | 72 - 105 | 24 | 28 | 206.8 M200Z180P 4.80
GLN32-165L B 100 | 32 | 72 | 77 | 165 | 24 | 28 | 266.8 M200Z180P 6.70
GLN32-210L B 100 | 32 | 72 | 77 | 210 | 24 | 28 | 311.8 M200Z180P 7.50
GLN40-115 A 100 | 40 | 90 - 115 | 30 | 32 | 216.8 M200Z180P 5.42
GLN42-120 A 100 | 42 | 90 - 120 | 30 | 32 | 221.8 M200Z180P 6.14
GLN42-210L B 100 | 42 90 95 | 210 | 30 32 | 311.8 M200Z180P 7.23
GLN50-120 A 100 | 50 90 - 120 | 35 35 | 221.8 M200Z180P 5.65
GLN50.8-120 A 100 | 50.8 | 90 - 120 | 33 (34.54| 221.8 M200Z180P 5.58

E: WFEHFEMITIE.

Notice: Wrenchs shall be ordered separately.

37



BT-MTA X R#EETIN (#LER)
BT-MTA Morse Taper Holder

iR JR~} Dimension ‘ B2E

Specification di d2 ‘ Weight
BT30- MTA1-45 1 46 25 12.065 45 93.4 0.55
MTA1-105 1 46 25 12.065 105 153.4 0.80
MTA2-60 2 46 32 17.78 60 108.4 0.60
MTA2-120 2 46 32 17.78 120 168.4 0.90
MTA3-80 3 46 40 23.825 80 128.4 0.80
BT40- MTA1-45 1 63 25 12.065 45 110.4 1.05
MTA1-120 1 63 25 12.065 120 185.4 1.28
MTA2-50 2 63 32 17.78 50 1154 1.00
MTA2-120 2 63 32 17.78 120 185.4 1.41
MTA3-70 3 63 40 23.825 70 1354 1.13
MTA3-135 3 63 40 23.825 135 200.4 1.75
MTA4-95 4 63 48 31.267 95 160.4 1.35
MTA4-165 4 63 48 31.267 165 230.4 2.30
BT50- MTA1-45 1 100 25 12.065 45 146.8 3.59
MTA1-120 1 100 25 12.065 120 221.8 3.88
MTA1-180 1 100 25 12.065 180 281.8 4.12
MTA2-60 2 100 32 17.78 60 161.8 3.64
MTA2-135 2 100 32 17.78 135 236.8 4.17
MTA2-180 2 100 32 17.78 180 281.8 4.39
MTA3-65 3 100 40 23.825 65 166.8 3.60
MTA3-150 3 100 40 23.825 150 251.8 4.40
MTA3-180 3 100 40 23.825 180 281.8 4.73
MTA4-95 4 100 48 31.267 95 196.8 3.88
MTA4-180 4 100 48 31.267 180 281.8 5.00
MTA5-105 5 100 63 44.399 105 206.8 3.74

38



BT-MTB = RH#EETIN (RLZEE)
BT-MTB Morse Taper Holder MT.NO

itk ERHEEE  Er L EARAT o HE
Specification MT.NO Figure Tension GCrew Range Weight

BT30- | MTB1-45 1 A 46 25 |12.065] 45 | 934 EO60U160 ®10-014 0.55
MTB2-60 2 B 46 32 |17.78| 60 |108.4| BT30-45-MT2 016-022 0.60
BT40- | MTB1-45 1 A 63 25 |12.065] 45 |(110.4 E060U160 ®10-014 1.00
MTB2-50 2 A 63 32 (17.78| 50 |115.4| E100U300-MTB | ®16-022 1.02
MTB3-75 3 B 63 40 |23.825| 75 |140.4| BT40-45-MT3 024-032 1.19
MTB4-90 4 B 63 48 |31.267| 90 |155.4| BT40-45-MT4 ®32-050 1.33
BT50- | MTB1-45 1 A 100 25 |12.065| 45 |146.8 E060U250 ®10-014 3.30
MTB2-45 2 A 100 | 32 |17.78| 45 |151.8 E100U350 ®16-022 3.57
MTB3-60 3 A 100 | 40 |23.825| 60 |161.8 E120U400 024-032 3.61
MTB4-75 4 A 100 | 50 |31.267| 75 |176.8| E160U400-MTB | ®32-050 3.68
MTB5-120 5 B 100 | 70 |44.399| 120 |221.8| BT50-45-MT5 ®55-060 4.10

HE: ROE R AT

Notice:Tension GCrew is included.

39



BT-GPU B4k 4k &k TIW
BT-GPU Drill Chuck Holder

BE R~} Dimension RIENEE RIFTEE @ EER
Specification Range Weight

BT30- GPU8-80 46 37 8 80 55 137.4 0.04 0-8 0.72
GPU13-110 46 50 13 110 75 170.4 0.04 0.3-13 1.62
GPU16-120 46 57 16 120 80 180.4 0.04 3-16 1.70

BT40- GPU8-85 63 37 8 85 55 159.4 0.04 0-8 1.36
GPU13-100 63 50 13 100 75 177.4 0.04 0.3-13 1.76
GPU13-130 63 50 13 130 75 207.4 0.04 0.3-13 2.47
GPU16-105 63 57 16 105 80 187.4 0.04 3-16 2.18

BT50- GPUS8-90 100 37 8 90 55 200.4 0.04 0-8 4.32
GPU13-100 100 50 13 100 75 2134 0.04 0.3-13 4.98
GPU13-130 100 50 13 130 75 243.4 0.04 0.3-13 5.50
GPU13-180 100 50 13 180 75 293.4 0.04 0.3-13 6.06
GPU16-105 100 57 16 105 80 2234 0.04 3-16 4.78
GPU16-130 100 57 16 130 80 248.4 0.04 3-16 5.24
GPU16-190 100 57 16 190 80 308.8 0.04 3-16 6.66

E: BOEERF.

Notice:Wrench is included.

40



BT-FMA “FHI%JIR (B
BT-FMA Face Mill Holder

dz

~

1e mm JUTDimensin  JENRET Lp gg
Specification Figure L1 Locking GCrew Washer Weight
for cutter

BT30- | FMA25.4-45 A 50 254 | 315 45 20 113.4 E120U300 - 1.10
FMA25.4-60 A 50 254 | 315 60 20 128.4 E120U300 - 1.30
FMA31.75-45 A 60 31.75 40 45 22 115.4 E160U350 - 1.35

BT40- | FMAZ25.4-45 A 50 25.4 31.5 45 20 130.4 E120U300 - 1.54
FMA25.4-60 A 50 25.4 | 315 60 20 145.4 E120U300 - 1.77
FMA25.4-90 A 50 25.4 | 315 90 20 175.4 E120U300 - 2.23
FMA25.4-105 A 50 254 31.5 105 20 190.4 E120U300 - 2.47
FMA31.75-45 A 60 31.75 40 45 22 132.4 E160U350 FM-2 1.65
FMA31.75-75 A 60 31.75 40 75 22 162.4 E160U350 FM-2 2.31
FMA31.75-90 A 60 31.75 40 90 22 177.4 E160U350 FM-2 2.64
FMA38.10-60 A 75 38.1 50 60 25 150.4 E160U350 FM-3 2.36
FMA50.80-60 A 95 50.8 65 60 36 161.4 E160U350 - 3.50

BT50- | FMA25.4-45 A 50 254 | 315 45 20 166.8 E120U300 - 3.87
FMA25.4-90 A 50 254 | 315 90 20 211.8 E120U300 - 4.54
FMA25.4-150 A 50 254 | 315 150 20 271.8 E120U300 - 5.47
FMA31.75-45 A 60 31.75 40 45 22 168.8 E160Z350-40 - 4.04
FMA31.75-75 A 60 31.75 40 75 22 198.8 E160Z350-40 - 4.72
FMA31.75-105 A 98 31.75 40 105 22 228.8 | E160Z350-40 - 7.19
FMA38.10-45 A 80 38.1 50 45 25 171.8 E160Z350-50 - 4.27
FMA38.10-75 A 80 38.1 50 75 25 201.8 E160Z350-50 - 5.48
FMAS50.80-45 A 95 50.8 65 45 36 182.8 E240Z350-65 - 4.74
FMA50.80-75 A 95 50.8 65 75 36 212.8 | E240Z350-65 - 6.35
FMA47.625F-75 B 128.75|47.625 - 75 32 208.8 E160U500 - 7.60

41



BT-FMB “FHi % JIW (AW
BT-FMB Face Mill Holder m 1

2 B JX~} Dimension ﬂjﬁ%ﬁ%ﬁﬁ
Specification Figure d2 L1 Locking GCrew for
cutter

BT30-| FMB22-45 A 48 22 16 45 18 111.4 E100U300 - 0.85
FMB22-60 A 48 22 16 60 18 | 1264 E100U300 - 1.25
FMB27-45 A 60 27 33 45 20 | 1134 E120U300 FM-1 1.20
FMB27-60 A 60 27 33 60 20 | 1284 E120U300 FM-1 1.35
FMB32-45 A 78 32 40 45 22 1154 E160U350 - 1.35
BT40-| FMB22-45 A 48 22 16 45 18 128.4 E100U300 - 131
FMB22-60 A 48 22 16 60 18 143.4 E100U300 - 1.51
FMB22-90 A 48 22 16 90 18 173.4 E100U300 - 1.94
FMB22-150 A 48 22 16 150 18 2334 E100U300 - 2.70
FMB22-200 A 48 22 16 200 18 283.4 E100U300 - 3.43
FMB27-45 A 60 27 33 45 20 130.4 E120U300 FM-1 1.52
FMB27-60 A 60 27 33 60 20 145.4 E120U300 FM-1 1.86
FMB27-90 A 60 27 33 90 20 | 1754 E120U300 FM-1 2.51
FMB27-105 A 60 27 33 105 20 | 1904 E120U300 FM-1 2.86
FMB32-45 A 78 32 40 45 22 | 1324 E160U350 FM-2 1.87
FMB32-60 A 78 32 40 60 22 | 1474 E160U350 FM-2 2.32
FMB40-60 A 85 40 50 60 25 1504 E200U350 FM-3 2.47
BT50-| FMB22-45 A 48 22 16 45 18 16 4.8 E100U300 - 3.79
FMB22-90 A 48 22 16 90 18 209.8 E100U300 - 4.53
FMB22-150 A 48 22 16 150 18 269.8 E100U300 - 5.27
FMB22-200 A 48 22 16 200 18 319.8 E100U300 - 5.97
FMB22-250 A 48 22 16 250 18 |369.8 E100U300 - 6.69
FMB22-300 A 48 22 16 300 18 419.8 E100U300 - 7.42
FMB22-350 A 48 22 16 350 18 | 469.8 E100U300 - 8.13
FMB22-400 A 48 22 16 400 18 519.8 E100U300 - 8.83
FMB27-50 A 60 27 33 50 20 | 1718 E120U300 FM-1 4.04
FMB27-90 A 60 27 33 90 20 | 2118 E120U300 FM-1 4.94
FMB27-150 A 60 27 33 150 20 | 2718 E120U300 FM-1 6.25
FMB27-200 A 60 27 33 200 20 | 3218 E120U300 FM-1 7.37

42



BT-FMB “FHTIW (EMF)
BT-FMB Face Mill Holder

R ~f Dimension

e EER
Specification Figure d2 L1

TIEBURIRET

Locking GCrew for

cutter

BT50- | FMB27-250 A 60 27 33 250 20 | 3718 E120U300 FM-1 8.51
FMB32-50 A 78 32 40 50 22 173.8 E160Z350-40 - 4.40
FMB32-90 A 78 32 40 90 22 | 2138 E160Z350-40 - 5.79
FMB32-150 A 78 32 40 150 22 273.8 E160Z350-40 - 7.10
FMB40-50 A 85 40 50 50 25 176.8 E200Z350-50 - 4.57
FMB40-90 A 85 40 50 90 25 |216.8 E200Z350-50 - 6.45
FMB40-105 A 85 40 50 105 25 | 2318 E200Z350-50 - 7.02
FMB60F-75 B 140 60 - 75 25 |201.8 E160U500 - 8.00

43



BT-FMA-L “FHEZ I (W)
BT-FMA-L Face Mill Holder With Extra Taper Shank

:da

S TIRBURIRET 28
Specification Locking GCrew for cutter Weight

BT50- | FMA25.4-125L 48 25.4 | 315 60 125 30 | 246.8 E120U300 5.60
FMAZ25.4-150L 48 25.4 | 315 60 150 30 | 271.8 E120U300 6.20
FMAZ25.4-200L 58 25.4 | 315 | 62.5 200 30 | 321.8 E120U300 7.50
FMAZ25.4-250L 58 25.4 | 315 | 62,5 250 30 | 371.8 E120U300 8.40
FMAZ25.4-300L 58 25.4 | 315 | 62,5 300 30 | 421.8 E120U300 9.40
FMA25.4-350L 58 254 31.5 62.5 350 30 471.8 E120U300 9.70
FMA25.4-400L 58 254 31.5 62.5 400 30 521.8 E120U300 10.50
FMA31.75-125L 70 31.75 40 75 125 30 248.8 E160Z500-40 5.60
FMA31.75-150L 70 | 31.75| 40 75 150 30 | 273.8 E160Z500-40 6.30
FMA31.75-175L 70 31.75 40 75 175 30 298.8 E160Z500-40 8.30
FMA31.75-200L 70 | 31.75| 40 75 200 30 | 323.8 E160Z500-40 9.10
FMA31.75-250L 70 | 31.75| 40 75 250 30 | 373.8 E160Z500-40 10.60
FMA31.75-300L 70 | 31.75| 40 75 300 30 | 423.8 E160Z500-40 12.10
FMA31.75-350L 70 | 31.75| 40 75 350 30 | 473.8 E160Z500-40 13.60

44



BT-FMB-L “FHE %I (hn#HER)
BT-FMB-L Face Mill Holder With Extra Taper Shank

ds

e R~} Dimension ﬂ'ﬁi@i}%ﬂ?‘ﬁ e
Specification d2 d3 L1 L Locking GCrew for Weight
cutter
BT40- FMB22-150L 48 22 16 50 150 30 2334 E100U300 2.83
FMB22-200L 48 22 16 50 200 30 283.4 E100U300 3.57
FMB22-250L 48 22 16 50 250 30 3334 E100U300 4.29
FMB22-300L 48 22 16 50 300 30 383.4 E100U300 5.04
FMB22-350L 48 22 16 50 350 30 433.4 E100U300 5.79
FMB22-400L 48 22 16 50 400 30 483.4 E100U300 6.58
BT50- FMB22-150L 58 22 16 62.5 150 58 269.8 E100U300 6.17
FMB22-200L 58 22 16 62.5 200 58 319.8 E100U300 7.28
FMB22-250L 58 22 16 62.5 250 58 369.8 E100U300 8.41
FMB22-300L 58 22 16 62.5 300 58 419.8 E100U300 9.55
FMB22-350L 58 22 16 62.5 350 78 469.8 E100U300 10.72
FMB22-400L 58 22 16 62.5 400 78 519.8 E100U300 11.92
FMB22-450L 58 22 16 62.5 450 78 569.8 E100U300 13.20
FMB22-500L 58 22 16 62.5 500 78 619.8 E100U300 14.36

45



BENEEHMaERRAF

XIAMEN GOLDEN EGRET SPECIAL ALLOY CO,, LTD.

SF RRIEIRH

DSK BRI RISIEIRHT

M BIE#% ER P MEFREH

ER 4 RFIERHT

VER R MEIUF IEASHT

DSK {5Zf 4Rk

ER 38$E%

ER IN%E%k

GC ERERRE

D BlimE KR ETIREE R

OD Bl 7K ETIREEIR AR

TPD316 £iE%K

TPD830 #itifg¥k

SIETIHE J BUZIE

DSK Si®7IAE iR

ER JesLiRig

GSK SiEJA S ARE

46



ER 1Z21ELEKIE ..........c........ eeeeeteeseestestestetetesaeat st stestestenteste st st stestens e sesssssssessenes 64

GSK ZERIE T ....oveoeveerereseensssrsssssssssssessssssssssssssssssssassssssssasssssssssssssssssssassssssssssasasssssssssssssssssesssssssssssssns 66
DSK B FBIRIE .....overeverensseesssssssessssssssssssssssssssssssssassssssss sssssssssssssssssssssasssssssssssssssssssssassssasssassssssssassessssssssases 66
ER B FHRTF...ovvervvereeesssessssssssssssssssssssssssssssssasssas sessssssssssssssassssssasssssssssnsssssssassssssssassssssssansssssssssssssssnsssssssns 66
HPM 1 HERERRF.......coonneee.. ceteueeus st st st ae et s e s a e a e st st aesaentenes 66
GLC/HPC 3BT A G IR ..o ceeeecmeenemscensenensesacnseensesasesnscssasensas setsssstnsasessastasassnsasessassnsensasensasen 67
GPU SHIESLB IR ..o ceeeecmeecnsecnseenscsnscssncssascasascastasastssass sastssasssssasassssastasastnsasssssssssssssssasssssssssasassasases 67
TPD ZZHEEITIRTE .....veoeveereesseenssessssssssssssssssssssssssssssssssssssssss sesssssssssessssssssesssssssssssssssssssssassssssssassssssssassssssass 67
MSK BEEIEETHIRTE -..voeveeeeereesssenssenssssssssssssssssssssssasssssssssssssssssssssssasssssssssssssssssssssassssasssssssssssssssssssssssases 67
BT BBARIIET -.ovuoveeeeesseesessssssssssssssessssssssssssssssass sesssssessssssssessssssasssssssssnsssssssasssssessassssssssessssessssssssssanssssssses 68
BT BBARHHIKEET ..eovveoereereresesessssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssassssssssssassssssssssssssssssssssssssssssssssens 68
IMAZAK BBEREIET -.eoceeneeneneccmecenecsnecnseecnstcastsastssast sascssassastssastssastnsastsassssastssssssstssastasastnsassnssssssssassassssace 69
DIN2080 BBERHIET ....ceoceemeememcmcmcnnncnsnscnsucnsucnstscastsnscssuscsssssssssssssssassssasssssssssssssssssssssssssssssssssssssassssassssacs 69
IMTB BEBRIET «..coeecneecnecnsincnsencnstnsncssncnsascastssastssesssassssssssssssasssssssssssssssssssssssssassssssssssssssssns sessssssssssssssssss 70
B RAPIZNEHIRET «..oovoveeeeeeeneeeeeeeeeeesesssssssssasasasassssssasssssasasasssasassssssssssssssssssssssssssssssssssssasassasasssssssssssases 71
HUB ......oovuevusseesesuesssessssssseses s sase s st ses AR SRR AR R SRR AR e SRR AR AR R AR 71
L IZIRTE ... eeeeeeeresesesssssssssssssssssssssssssassssssssssssessasssssssesessssssstssasssssssesssesessssssssssssssssssstsssssssnssssssssssssasasanes 72
T IR oot esasesnssssnesssassssssnssssnssssnsssansssansssassssassssassnsssnssssnsssnsss senssssnssssnsnsenensensne 72
B BT ettt ee e se s ae s s a s e e s a s e s e a e e s e st e e et R e e e n s Re e aeassessansnsess 73
PIZSEEBET -.eoeoneeeeeeceeeeeceneeeeeeneasaeaenensasessensesssssssssnsssssssansssssssnsnssssssssnssssssssnsssssssnsassss sessnsssssssnsasassans 75
PR eeeeeeeneenernereaeennsansasesnesnsassnssesnssnssasseesasssssasseessnssassssstsssnssesstsstasssssesntnssasseestenassassassssnsensassesssansases 76

47



SF HIEFEKAT
SF Shrink Fit Extender

N LS LI SIS LI T TTT 777
D l

A e

- -

Pl L= JX~F Dimension

Specification D1 d
C12- SF3-160 12 3 160 i 0.20
SF4-160 12 4 160 0.21
Cl6- SF3-160 16 10 3 160 0.22
SF4-160 16 10 4 160 0.23
SF5-160 16 10 5 160 0.24
SF6-160 16 10 6 160 0.25
C20- SF5-160 20 14 5 160 0.40
SF6-160 20 14 6 160 0.42
SF8-160 20 14 8 160 0.44
C25- SF8-160 25 20 8 160 0.60
SF10-160 25 20 10 160 0.62
SF12-160 25 20 12 160 0.65
C32- SF10-160 32 27 10 160 0.78
SF12-160 32 27 12 160 0.81
SF16-160 32 27 16 160 0.83
SF20-160 32 27 20 160 0.85

48



DSK ELA 314 8 e ZE KAT
DSK Collet Extender

i = R~} Dimension
Specication d L1
C20- DSK6-120 20 20 20 120 0.28
DSK6-150 20 20 20 150 0.40
DSK6-180 20 20 20 180 0.55
DSK10-120 29 20 38 120 0.36
DSK10-150 29 20 38 150 0.45
DSK10-180 29 20 38 180 0.60
M B ER ER BRI R EKAT

ER Collet Extender (M-Type)

-5 R~} Dimension
Specification d L1
C12- ER11M-100 16 12 17 130.5 0.13
ER11M-150 16 12 17 180.5 0.18
Cile- ER11M-100 16 16 18.5 128.5 0.18
ER11M-150 16 16 18.5 158.5 0.24
ER16M-100 23 16 37 137 0.18
ER16M-150 23 16 37 187 0.24
C20- ER16M-100 23 20 25 125 0.26
ER16M-150 23 20 25 175 0.30
ER20M-100 28 20 40 140 0.25
ER20M-150 28 20 40 190 0.39
ER20M-200 28 20 40 240 0.54
ER25M-100 35 20 40 140 0.39
C25- ER20M-150 28 25 28 178 0.55

49



ER 3 JEIEKAT
ER Collet Extender

@ //’///l//l/l/“'//|

i | =

P JX~} Dimension
Specification d L1
Cl6- ER16-100 28 16 36 136 0.16
ER16-150 28 16 30 180 0.28
ER20-100 34 16 36 136 0.30
C20- ER16-100 28 20 30 130 0.29
ER16-150 28 20 30 180 0.38
ER20-100 34 20 36 136 0.38
ER20-150 34 20 36 186 0.48
ER25-100 42 20 46 146 0.45
ER25-150 42 20 46 196 0.62
C25- ER16-100 28 25 30 130 0.45
ER16-150 28 25 30 180 0.60
ER20-100 34 25 36 136 0.48
ER20-150 34 25 36 186 0.65
ER25-100 42 25 46 146 0.52
ER25-150 42 25 46 196 0.75

50



VER R4 IAME LT SEKAT
VER Synchronized Tapping Extender

BE FAFVE R~} Dimension BUFRES HE
Specication Clamping range ‘ d L1 Tapping capacity Weight

VER 16-M24 2-10 28 20 37 24 M3-M12 0.15
16-L55 2-10 28 20 37 55 M3-M12 0.22

20-M26 2-13 34 25 45 26 M5-M16 0.20

20-L75 2-13 34 25 45 75 M5-M16 0.29

25-M28 2-16 42 32 52 28 M6-M20 0.35

25-186 2-16 42 32 63 86 M6-M20 0.54

32-M30 4-20 50 40 64 30 M10-M24 0.50

32-190 4-20 50 40 64 90 M10-M24 0.81

40-M32 6-26 63 50 75 32 M14-M33 0.65

40-L95 6-26 63 50 75 95 M14-M33 0.98

51



DSK & 2 3 14: 8

DSK Precision Collet

DSK6 DSK10 DSK16 DSK20 DSK25
11PCS 18PCS 27PCS 34PCs 45PCs

SETNO. RANGEmm SETNO. RANGEmm SETNO. RANGEmm  SETNO. RANGEmm  SETNO. RANGEmm

DSK6-| 2 | 1.8-2.0 |DSK10-| 2 | 1.75-2.0 |DSK16-| 3 | 2.75-3.0 |DSK20-|3.5| 3.0-3.5 |DSK25-|3.5| 3.0-3.5

25| 2.3-2.5 3| 2.753.0 4 | 3.0-35 45| 3.5-4.0 45| 35-4.0

3| 2830 3.5 3.0-3.5 5 | 3.5-4.0 55| 4.0-45 55| 4.0-4.5

3.5/ 3.0-3.5 4| 3.54.0 6 | 4.0-45 6 | 4.5-5.0 6 | 4.5-5.0

4| 3.54.0 45| 4.0-4.5 7 | 4.5-5.0 7 | 5.0-55 7 | 5.0-55

45| 4.0-4.5 5| 4.55.0 8 | 5.0-55 8 | 55-6.0 8 | 55-6.0

5| 4550 5.5 5.0-5.5 9 | 55-6.0 9 | 6.0-65 9 | 6.0-65

5.5/ 5.0-5.5 6| 5.5-6.0 35| 6.0-65 4 | 6570 4 | 65-7.0

6| 5.56.0 6.5| 6.0-6.5 45| 65-7.0 5| 7.0-75 5 | 7.0-7.5

7| 6.5-7.0 55| 7.0-7.5 6.5| 7.5-8.0 6.5| 7.5-8.0

7.5| 7.0-7.5 6.5| 7.5-8.0 75| 8.0-85 7.5 | 8.0-85

8| 7.5-8.0 75| 8.0-85 85| 8590 8.5 | 85-9.0

8.5| 8.0-8.5 85| 85-9.0 9.5| 9.0-95 9.5 | 9.0-9.5

9| 8.59.0 9.5| 9.0-9.5 10 | 9.5-10.0 10 | 9.5-10.0

9.5/ 9.0-9.5 10 | 9.5-10.0 10.5| 10.0-10.5 105/ 10.0-10.5

10| 9.5-10.0 10.5| 10.0-10.5 11 | 10.5-11.0 11 {10.5-11.0

11 | 10.5-11.0 11.5| 11.0-11.5 11.5]11.0-11.5

11.5| 11.0-11.5 12 | 11.5-12.0 12 |11.5-12.0

12 | 11.5-12.0 12.5| 12.0-12.5 12.5(12.0-12.5

12.5| 12.0-12.5 13 | 12.5-13.0 13 |12.5-13.0

13 | 12.5-13.0 13.5| 13.0-13.5 13.5(13.0-13.5

13.5| 13.0-13.5 14 | 13.5-14.0 14 |13.5-14.0

14 | 13.5-14.0 14.5| 14.0-14.5 14.5(14.0-14.5

14.5| 14.0-14.5 15 | 14.5-15.0 15 |14.5-15.0

15 | 14.5-15.0 15.5| 15.0-15.5 15.5]15.0-15.5

15.5| 15.0-15.5 16 | 15.5-16.0 16 |15.5-16.0

16 | 15.5-16.0 16.5| 16.0-16.5 16.5/16.0-16.5

17 | 16.5-17.0 17 |16.5-17.0

17.5| 17.0-17.5 17.5(17.0-17.5

18 | 17.5-18.0 18 |17.5-18.0

18.5| 18.0-18.5 18.5(18.0-18.5

19 | 18.5-19.0 19 |18.5-19.0

19.5| 19.0-19.5 19.5(19.0-19.5

20 | 19.5-20.0 20 |19.5-20.0

20.5/20.0-20.5

52



DSK & 2 3 14: 8

DSK Precision Collet

DSK6 DSK10 DSK16 DSK20 DSK25
11PCS 18PCS 27PCS 34PCS 45PCS
SET NO. RANGEmm SET NO. RANGEmm SET NO. RANGEmm SET NO. RANGEmm SET NO. RANGEmm
DSK25-| 21 |20.5-21.0

21.5|21.0-21.5
22 |21.5-22.0
22.5|22.0-22.5
23 |22.5-23.0
23.5|23.0-23.5
24 |23.5-24.0
24.5|24.0-24.5
25 |24.5-25.0
25.4|25.0-25.4

LiRs X~} Dimension
Specification D D1 L
DSK 6 9 7.5 25
10 13 11.9 30.5
16 20.3 18.7 45
20 24 23 50
25 29.3 28.7 57

MR L PLAH / Spring Collet Precision
WEZEH: DTET 0.015mmBA Z%: /PTEZET 0.00mmBUP Z&%: /MT2T 0.005mm
B Standard: <<0.015 mmEA: <0.01 mmBUP: <0.005 mm

£yE: WHBEST SK iR, ER AR, GC HfF%.
Remark:This precision is applied to SK collet\ER collet\GC Straight Collet .

53



ER 314 fE &
ER Collet

A

#15 Speci cation

ER11-13PCS ‘ ER16-10PCS ‘ ER20-12PCS ER25-15PCS ER32-19PCS ‘ ER40-24PCS
ER114 1| 1.0-0.5 [ER16-{1| 1.0-0.5 [ER20-{2| 2.0-1.0 |ER25-|2| 2.0-1.0 |ER32-|2| 2.0-1.0 | ER40- (3| 3.0-2.0
1.5 1.5-1.0 2| 2.0-1.0 3| 3.0-2.0 3| 3.0-2.0 3| 3.0-2.0 4| 4.0-3.0
2| 2.0-15 3| 3.0-2.0 41 4.0-3.0 4] 4.0-3.0 4| 4.0-3.0 5| 5.0-4.0
2.5 2.5-2.0 4] 4.0-3.0 5| 5.0-4.0 5| 5.0-4.0 5| 5.0-4.0 6| 6.0-5.0
3] 3.0-25 5| 5.0-4.0 6| 6.0-5.0 6| 6.0-5.0 6| 6.0-5.0 7| 7.0-6.0
3.5 3.5-3.0 6| 6.0-5.0 7| 7.0-6.0 7| 7.0-6.0 7| 7.0-6.0 8| 8.0-7.0
4| 4.0-35 7| 7.0-6.0 8| 8.0-7.0 8| 8.0-7.0 8| 8.0-7.0 9| 9.0-8.0
4.5 4.5-4.0 8| 8.0-7.0 9| 9.0-8.0 9| 9.0-8.0 9| 9.0-8.0 10, 10-9.0
5| 5.0-45 9| 9.0-8.0 10, 10-9.0 10 10-9.0 100 10-9.0 11 11-10
5.5 5.5-5.0 10, 10-9.0 11} 11-10 11 11-10 11 11-10 12 12-11
6| 6.0-5.5 12 12-11 12| 12-11 12) 12-11 13 13-12
6.5 6.5-7.0 13 13-12 13 13-12 13 13-12 14| 14-13
7| 7.0-6.5 14| 14-13 14 14-13 15 15-14
15 15-14 15 15-14 16/ 16-15
16| 16-15 16| 16-15 17| 17-16
17, 17-16 18 18-17
18 18-17 19) 19-18
19 19-18 20 20-19
20, 20-19 21 21-20
22| 22-21
23 23-22
24 24-23
25| 25-24
26 26-25
pig= JR~} Dimension
Specication D L
ER 11 11.50 18
16 17.00 27.5
20 21.00 31.5
25 26 34
32 33 40
40 41 46

¥: ER11-13PCS AEEEF RN, HBAH1L/KE ER FFRATER. #l: ER32-16C
Note: ER Collet with internal cooling is available. Example: ER32-16C

54



ER TLLfA 3%
ER Tapping Collet

e JR~} Dimension ‘ #yEEF Taps
Specication d ~ 150529(1) 150529(2) | DIN376

ER16- 063050G 6.3 5 M8 M6 - -
070055G 5.5 - - M10;W3/8 M10
080063G 6.3 M10 M8 - -
085065G 8.5 6.5 - - M12 -
090071G 9 7.1 M12 - - -

ER20- 063050G 6.3 5 M8 M6 - ]
070055G 5.5 ] - M10;W3/8 M10
080063G 6.3 M10 M8 - ]
085065G 8.5 6.5 ] - M12 ]
090071G 9 7.1 M12 - - -

ER32- 063050G 6.3 5 M8 M6 - -
070055G 5.5 - - M10;W3/8 M10
080063G 6.3 M10 M8 - -
085065G 8.5 6.5 - - M12 -
090071G 9 7.1 M12 - - -
120090G 12 9 - - W5/8 M16
125100G 12.5 10 M16 - M16 -
140112G 14 11.2 M18;M20 - - ]
150120G 15 12 ] - M20 ]
160120G 16 12 ] - - M20

TE: 1 ZERAHERARTT DA RITIEA L 2 58

B RN LR S T R .

Note: ER Collet with internal cooling is available. Example: ER32-16C

55



GC 3R I E Kk
GC Straight Collet

nE

Specification d
GC16- 3 16 3 -
4 16 4 -
5 16 5 -
6 16 6 -
7 16 7 -
8 16 8 -
9 16 9 -
10 16 10 -
11 16 11 -
12 16 12 -
GC20- 20 -
20 -
10 20 10 -
12 20 12 -
16 20 16 15
GC32- 32 -
32 -
10 32 10 -
12 32 12 -
16 32 16 15
20 32 20 19
25 32 25 24
GC42- 42 -
42 -
10 42 10 -
12 42 12 -
16 42 16 15
20 42 20 19
25 42 25 24
32 42 32 31

56



D v ] H 7K VRS TINRRE 4 f 3R
Hydraulic Collet - Flange Cooling

HE

s,

R~} Dimension

Specication d D)
DHC12- 3 3 12 45
4 4 12 45
5 5 12 45
6 6 12 45
8 8 12 45
DHC20- 3 3 20 50.5
4 4 20 50.5
5 5 20 50.5
6 6 20 50.5
8 8 20 50.5
10 10 20 50.5
12 12 20 50.5
14 14 20 50.5
16 16 20 50.5
DHC32- 32 60.5
32 60.5
10 10 32 60.5
12 12 32 60.5
14 14 32 60.5
16 16 32 60.5
18 18 32 60.5
20 20 32 60.5
25 25 32 60.5

57



oD Z rh s HH /KW TIAR B B R

Hydraulic Collet - Internal Cooling

OFE

d 9
d

0

= JR~} Dimension
Specication d D

ODHC12- 3 3 12 45

4 4 12 45

5 5 12 45

6 6 12 45

8 8 12 45
ODHC20- 3 3 20 50.5
4 4 20 50.5
5 5 20 50.5
6 6 20 50.5
8 8 20 50.5
10 10 20 50.5
12 12 20 50.5
14 14 20 50.5
16 16 20 50.5
ODHC32- 32 60.5
32 60.5
10 10 32 60.5
12 12 32 60.5
14 14 32 60.5
16 16 32 60.5
18 18 32 60.5
20 20 32 60.5
25 25 32 60.5

58



TPD316 Z4fEfA %
TPD316 Tapping Collet

JR~} Dimension ZYEIEA Taps
k DI D2 | 10S529(1) 10S529(2) DIN371 DIN376
TPD316- 028021-L 2.8 2.1 20 33 - - - - M4
0315025-L | 3.15 2.5 20 33 M4 M3 - - -
035027-L 3.5 2.7 20 33 - - - M3 M5
0400315-L 4 3.15 20 33 M5 M4 - - -
040032-L 4 3.2 20 33 - - M3; W1/8 - -
045034-L 4.5 34 20 33 - - - M4 M6
0450355-L 4.5 3.55 20 33 M6 - - - -
050040-L 5 4 20 33 - M5 M4 - -
055045-L 5.5 4.5 20 33 - - M5; W3/16 - -
060045-L 6 4.5 20 33 - - M6; W1/4 - -
060049-L 6 4.9 20 33 - - - M5 M6 M8
061050-L 6.1 5 20 33 - - W5/16 - -
062050-L 6.2 5 20 33 - - M8 - -
063050-L 6.3 5 20 33 M8 M6 - - -
070055-L 7 5.5 20 33 - - M10; W3/8 - M10
080060-L 8 6 20 33 - - W7/16; PT1/8 - -
080062-L 8 6.2 20 33 - - - M8 -
080063-L 8 6.3 20 33 M10 M8 - - -
085065-L 8.5 6.5 20 33 - - M12 - -
090070-L 9 7 27 33 - - W1/2 - M12
090071-L 9 7.1 27 33 M12 - - - -
100080-L 10 8 27 33 - M10 - M10 -
105080-L 10.5 8 27 33 - - M14 - -
110090-L 11 9 27 33 - - PT1/4 - M14
112090-L 11.2 9 27 33 mM14 - - - -
120090-L 12 9 27 33 - - W5/8 - M16
125100-L 12.5 10 27 33 M16 - M16 - -

TPD #2HEfE JeKJE Length of Tapping Collet

L+60
45 105 145

TE: 150529 (1) JYHNEE A T UREL 225

150529 (2) JRAAREEAH T UREL L2 5

TPD316 £ HER R HH =K KE k. #l: TPD316-028021-105

Note: Please note the length of the tapping collet when you order. For example: TPD316-028021-105

59



TPD830 Z4ffa K
TPD830 Tapping Collet

= R ~I Dimension
Specication DIN376

TPD830- | 060049-L 6 4.9 20 50 - - - M8
061050-L 6.1 5 20 50 - W5/16 - -
062050-L 6.2 5 20 50 - M8 - -
063050-L 6.3 20 50 M8 - - -
070055-L 7 5.5 20 50 - M10; W3/8 - M10
080060-L 8 6 20 50 - W7/16; PT1/8 M8 -
080062-L 8 6.2 20 50 - - - -
080063-L 8 6.3 20 50 M10 - - -
085065-L 8.5 6.5 20 50 - M12 - -
090070-L 9 7 27 50 - W1/2 - M12
090071-L 7.1 27 50 M12 - - -
100080-L 10 8 27 50 - - M10 -
105080-L | 10.5 8 27 50 - M14 - -
110090-L 11 9 27 50 - PT1/4 - M14
112090-L | 11.2 9 27 50 M14 - - -
120090-L 12 9 27 50 - W5/8 - M16
125100-L | 12.5 10 27 50 M16 M16 - -
140110-L 14 11 32 50 - M18; W3/4; PT3/8 - M18
140112-L 14 11.2 32 50 M18; M20 - - -
150120-L 15 12 32 50 - M20 - -
160120-L 16 12 32 50 - - - M20
160125-L 16 12.5 32 50 M22 - - -
170130-L 17 13 32 50 - M22; W7/8 - -
180140-L 18 14 36 50 M24 PT1/2 - -
180145-L 18 14.5 36 50 - - - M22; M24
190150-L 19 15 36 50 - M24 - -
200150-L 20 15 36 50 - M27; W1 PT5/8 - -
200160-L 20 16 36 50 M27; M30 - - M27
220180-L 22 18 36 50 - - - M30
230170-L 23 17 36 50 - M30; PT3/4 - -

60



TPD 24 Je K Z Length of Tapping Collet

L+60
65 125 165

E: 150529 (1) NN B T IR S 24

150529 (2) JoRHAARE A T IR G 225 .

Hoed”, “k R AL ERTSSELHIE.

TPD830 K HF =K KE L. %]: TPD830-060049-125

Note: Please note the length of the tapping collet when you order. For example: TPD830-060049-125

61



L TR ) BLBENE
J-Nut for High Speed Tool Holder

) BUBZ Mg A5

J-nut

LK ENERS
Nut Seal (Internal Cooling)

DSK6-J GSK6-J MSK6-C3. 3.3, 4. 4.2, 5. 6 WMSK10
DSK10-J GSK10-J MSK10-C3. 4. 4.5. 5. 5.5, 6. 6.2, 6.5, 6.8. 7. 8, 85. 10 WMSK16
DSK16-) GSK16-J MSK16-C7. 8. 8.5. 10. 10.3. 11. 11.5. 12. 12.5. 13.5. 14. 15. 16 | WMSK20
DSK20-J GSK20-J MSK20-C8. 10. 12. 16. 17.5. 20 WMSK25
DSK25-J GSK25-) MSK25-C8. 10. 12. 16. 17. 17.5. 18. 20. 25 WMSK6

) BURZE RY 5

i I K S RS HwFENS
Nut Seal(Flange Cooling) Wrench
DSK GSK

DSK6-J GSK6-J | MSK6-D3. 3.3, 4. 4.2. 5. 6 WMSK10
DSK10-J GSK10-J | MSK10-D3. 4. 4.5, 5. 5.5, 6. 6.2, 6.5, 6.8. 7. 8. 85, 10 WMSK16
DSK16-J GSK16-J | MSK16-D7. 8. 8.5. 10. 10.3. 11. 11.5. 12. 12.5. 13.5. 14, 15. 16 | WMSK20
DSK20-J GSK20-J | MSK20-D8. 10. 12. 16. 17.5. 20 WMSK25
DSK25-J GSK25-) | MSK25-D8. 10. 12. 16. 17. 17.5. 18. 20. 25 WMSK6

62



DSK =73 T % F iR i
Clamping Nuts For DSK Collet Chuck

e

Specification

DSK 6-A A 20 18 21 M15.5x1.0P
10-A A 27.5 25 24 M21.5x1.0P
16-M B 40.5 - 31 M32x1.5P
20-M B 48 - 33 M40x1.0P
25-M B 55 - 37 M45x1.5P
ER L IR 1E

Clamping Nut For ER Collet Chuck

iU E=) X~} Dimension

Specification L

CNA- ER16 A 28 17.5 M 22XP1.5
ER20 A 34 19 M 25XP1.5

CNU- M/RD-ER25 B 42 20 M 32XP1.5
M/RD-ER32 B 50 22.5 M 40XP1.5

M/RD-ER40 B 63 25.5 M 50XP1.5

CNM- ER11 C 16 12 M 13XP0.75
ER16 C 23 18 M 19XP1.0

ER20 C 28 19 M 24XP1.0

ER25 C 35 20 M 30XP1.0

63



GSK =i JI#R & F IR I
Clamping Nuts For GSK Collet Chuck

P JR~F Dimension
Specification L
GSK 6 19.5 21 M15.5x1.0P
10 27 24 M21.5x1.0P
16 40 31 M32x1.5P
20 48 33 M40x1.0P
25 55 37 M45x1.5P
ER B2 1K

Seal Ring For ER Clamping Nut

5 Specication

MER16 MER20 MER25 MER32
SETNO. RANGEmm  SETNO. RANGEmm SETNO. RANGEmm SETNO. RANGEmm
MER16|C3.5 35 MER20 C3.5 35 MER25| C3.5 3.5 MER32| C3.5 3.5
c4 4 c4 4 C4 4 c4 4
C4.5 4.5 C4.5 4.5 C4.5 4.5 C4.5 4.5
C5 5 C5 5 C5 5 C5 5
C5.5 5.5 C5.5 5.5 C5.5 5.5 C5.5 5.5
Cé 6 Cé 6 cé 6 Cé 6
C6.5 6.5 C6.5 6.5 C6.5 6.5 C6.5 6.5
Cc7 7 c7 7 c7 7 c7 7
C7.5 7.5 C7.5 7.5 C7.5 7.5 C7.5 7.5
C8 8 C8 8 C8 8 C8 8
C8.5 8.5 C8.5 8.5 C8.5 8.5 C8.5 8.5
9 9 9 9 9 9 9 9
C9.5 9.5 C9.5 9.5 C9.5 9.5 C9.5 9.5
C10 10 C10 10 C10 10 C10 10
C10.5| 10.5 C10.5| 10.5 C10.5| 10.5

RN

MER40
SETNO. RANGEmm
MER40Q C3.5 3.5
c4 4
C4.5 4.5
C5 5
C5.5 5.5
Cé 6
C6.5 6.5
Cc7 7
C7.5 7.5
C8 8
C8.5 8.5
9 9
C9.5 9.5
C10 10
C10.5| 10.5

64



C11 11 C11 11 C11 11
C11.5{ 115 C11.5| 115 C11.5| 115
C12 12 Ci2 12 C12 12
C12.5| 125 C12.5| 125 C12.5| 125
C13 13 C13 13 C13 13
C13.5 135 C13.5| 135

Ci4 14 Ci4 14

C14.5| 145 C14.5| 145

C15 15 C15 15

C15.5| 155 C15.5| 155

Ci16 16 Ci6 16

Ci16.5| 16.5

C17 17

C17.5| 175

C18 18

C18.5| 185

C19 19

C19.5| 195

C20.5| 205

C11 11
C11.5| 115
C12 12
C12.5| 125
C13 13
C13.5| 135
Ci4 14
C14.5| 145
C15 15
C15.5| 155
C16 16
Cle6.5| 16.5
Cc17 17
C17.5| 175
C18 18
C18.5| 185
C19 19
C19.5| 195
C20 20
C20.5| 20.5
c21 21
C21.5| 215
C22 22
C22.5| 225
c23 23
C23.5| 235
C24 24
C24.5| 245
C25 25
C25.5| 255
C26 26

= JX=} Dimension
Specification L
ER 16-J 28 111 22.5 M22x1.5-6H
20-) 34 14.1 26 M25x1.5-6H
25-) 42 19.1 25.5 M32x1.5-6H
32-) 50 24.1 27.5 M40x1.5-6H
40-J 63 30.1 30.5 M50x1.5-6H

65



GSK EFf L HRF
Wrench For GSK Tool Holder -

S 1& FH R 1 HiE
Specication Clamping nut Weight
WGSK 6 DSK6 0.30
10 DSK10 0.35
16 DSK16 0.40
20 DSK20 0.50
25 DSK25 0.55
DSK Ak F
Wrench For DSK Tool Holder
) i P40
Specication Clamping nut
TSK 6-A DSK6 0.10
10-A DSK10 0.10 _
16-M DSK16 0.20
20-M DSK20 0.30
25-M DSK25 0.40
ER THETF
Wrench For ER Tool Holder
itk & H RS HE
Specification Clamping nut Weight
ER 16-A CNA-ER16 0.10
20-A CNA-ER20 0.10
11-M CNM-ER11 0.20
16-M CNM-ER16 0.20
20-M CNM-ER20 0.20
25-M CNM-ER25 0.20
25-UM.KM/RD CNU-ER25 0.20
32-UM.KM/RD CNU-ER32 0.20
40-UM.KM/RD CNU-ER40 0.30
HPM 321 ER LT ARTF
Wrench For Milling Chuck HPM
e & A A
Specication Tool holder
WHPM 16 HPM16 0.40
20 HPM20 0.50

32 HPM32 0.60

66



GLC/HPC 38 J1 A KAk & FHIRF
Wrench For Tool Holder GLC/HPC

S SR NN HE
Specification Tool holder Weight
SP-GLC 20 GLC20/HPC20 0.20
32 GLC32/HPC32 0.30
42 GLC42/HPC42 0.45
GPU &3k £ HIRTF
Wrench For Drill Chuck GPU
S LN HE T
Specification Tool holder Weight
SP-GPU 8 GPU8 0.10
13 GPU13 0.12
16 GPU16 0.12
TPD 4R FIRTF
Wrench For TPD Tapping Collet
e &R A Ak
Specication Tool holder
WTPD 316 TPD316 0.10
830 TPD830 0.12
MSK 3 i T HiRF
Wrench For MSK Nuts Seal
e &
Specication Nut Seal
WMSK 6 MSK6 0.10
10 MSK10 0.10
16 MSK16 0.20

20 MSK20 0.20

67



BT MERe 4T
BT Pull Stud Without Hole

T = R~} Dimension
Specication L1 L2
BT30- 45 16.5 11 7 12.5 23 18 43 45° M12 13 0.03
60 16.5 11 7 12.5 23 18 43 60° M12 13 0.03
BT40- 45 23 15 10 17 35 28 60 45° M16 19 0.07
60 23 15 10 17 35 28 60 60° M16 19 0.07
90 23 15 10 17 35 28 60 90° M16 19 0.07
BT50- 45 38 23 17 25 45 35 85 45° M24 30 0.25
60 38 23 17 25 45 35 85 60° M24 30 0.25
90 38 23 17 25 45 35 85 90° M24 30 0.25
BT B2 /K Hr4T

BT Pull Stud With Cooling Hole

= wIKFLIZ JX 5t Dimension

Specication Coolant dia. D L1 L2

BT40- 45C 4 23 15 10 17 35 28 60 45° M16 19 0.07
60C 4 23 15 10 17 35 28 60 60° M16 19 0.07
90C 4 23 15 10 17 35 28 60 90° | M16 19 0.07

BT50- 45C 6 38 23 17 25 45 35 85 45° | M24 30 0.25
60C 6 38 23 17 25 45 35 85 60° | M24 30 0.25
90C 6 38 23 17 25 45 35 85 90° | M24 30 0.25

68



MAZAK 18427 4&T
MAZAK Pull Stud

= JX 5} Dimension
Specification
MAZAK- 40 22 18.8 12.45 17 441 19.1 14 19 M16 0.02
50 37 28.96 20.83 25 65.2 25.2 25.55 30 M24 0.10
DIN2080 4E#hr 4T

DIN2080 Pull Stud

ALee)

Specification

DIN2080-

JX~F Dimension
| L1
40 25 21.1 17 53 25 13.6 19 M16 0.06
50 39.3 32 25 65 25 13.35 30 M24 0.30

69



MTB h Ehr 4T
MTB Tension GCrew

ds

- A
RN T )
|+ . o

L1 SW

o

R

d 8
\T
SLEHERRI R e O S

-

L2 | SW
L1 f

T = L3N R~} Dimension
Specification Figure L1 L2
BT30- 45-MT2 A 16.5 11 7 12 23 18 105 | 45° | M10 | 13 0.07
BT40- 45-MT3 A 23 15 10 17 35 28 110 | 45° | M12 19 0.10
45-MT4 A 23 15 10 17 35 28 110 | 45° | M16 | 19 0.10
BT50- 45-MT5 A 38 23 17 25 45 35 165 45° M20 30 0.65

70



FHAANAIRET

Locking Screw

= ™ R~} Dimension
Specication L Wrench
M180Z130P SLN A 18 13 - L10
M180Z160P SLN A 18 16 - L10
M180Z2180P SLN A 18 18 - L10
M200Z180P SLN A 20 18 - L10
M200Z200P SLN A 20 20 - L10
E100Z300-MTB MTB B 10 30 135 LO5
E160Z2400-MTB MTB B 16 40 20 LO8
E160Z350-40 FMA/B B 16 35 40 L17
E160Z500-40 FMA/B B 16 50 40 L17
E160Z350-50 FMA/B B 16 35 50 L17
E160Z500-50 FMA/B B 16 50 50 L17
E240Z500-65 FMA/B B 24 50 65 L17
£
Washer For Face Mill Arbor
iE=S o T B JX~J Dimension A
Specication For a ‘ D
FM-1 FMB 16 33 -1+ 0
FM-2 FMA FMB 20.5 40
FM-3 FMA FMB 20.5 50 Y

A
\i

71



LR F

Allen Key
= JX 5} Dimension
Specication
L02 2 52 | 12
L025 2.5 60 15
L03 3 65 20 L
L04 4 70 25 ) -
LO5 5 78 28
LO6 6 85 32 =
! d
TRTF
Wrench-T
= JX<} Dimension
Specication o} L T
T02 2 58 2
T025 2.2 66 2.5
TO3 3 72 3
TO4 4 76 4
TO5 5 92 5
TO6 6 102 6
TO3-L 3 110 3
TO4-L 4 120 4
TO5-L 5 150 5
TO6-L 6 170 6
TO8-L 8 190 8
T30M 6 120 30

72



R WRET

Locking Screw

LLRsT JXSF Dimension wF
Specication d Wrench
MO060U080 6 8 L03
MO080U080 8 8 LO4
MO080U100 8 10 LO4
M100U100 10 10 LO5
M100U120 10 12 LO5
M120U140 12 14 LO6
M120U160 12 16 LO6
M120U200 12 20 LO6
M140U160 14 16 LO6
M140U200 14 20 LO6
M160U160 16 16 LO8
M160U250 16 25 LO8

M030U060-D 3 6 T015
MO040U040-D 4 4 T02
MO040U050-D 4 5 T02
M040U060-D 4 6 T02
M040U080-D 4 8 T02
MO040U100-D 4 10 T02
MO040U120-D 4 12 T02
MO040U160-D 4 16 T02
MO040U200-D 4 20 T02
MO50U060-D 5 T025
MO0O50U080-D 5 T025
MO050U200-D 5 20 T025
MO050U300-D 5 30 T025
MO060U060-D 6 T03
MO060U080-D 6 T03
MO060U100-D 6 10 T03
M060U120-D 6 12 T03
MO060U160-D 6 16 TO3
MO060U200-D 6 20 TO3
MO060U400-D 6 40 TO3
MO060U500-D 6 50 TO3
MO080U100-D 8 10 TO4
MO080U120-D 8 12 TO4
MO080U160-D 8 16 TO4
M080U200-D 8 20 TO4
MO080U300-D 8 30 T04
M100U120-D 10 12 TO5
M100U140-D 10 14 TO5
M100U160-D 10 16 TO5
M100U200-D 10 20 TO5
M100U250-D 10 25 TO5

73




= R~} Dimension WF
Specication d L Wrench
M120U120-D 12 12 TO6
M120U140-D 12 14 TO6
M120U200-D 12 20 TO6
M120U250-D 12 25 TO6
M120U300-D 12 30 TO6

74



WS FIRET

Locking Screw

LR JX~F Dimension T

Specication ‘ ‘ d Wrench

E030U080 5.5 3 8 L025
E040U100 4 10 L03
E040U160 4 16 L03
E040U200 4 20 L03
E050U100 8.5 5 10 L04
E050U120 8.5 5 12 L04
E050U160 8.5 5 16 L04
E050U200 8.5 5 20 L04
E050U300 8.5 5 30 L04
E050U350 8.5 5 35 L04
E050U450 8.5 5 45 L04 :
E050U650 8.5 5 65 L04 o
E050U800 8.5 5 80 L04 @ T ®
E050U1300 8.5 5 130 L04
E060U120 10 6 12 L05
E060U160 10 6 16 L05
E060U200 10 6 20 L05
E060U250 10 6 25 L05
E060U600 10 6 60 L05
E060U900 10 6 90 L05
E080U100 125 8 10 L06
E080U160 125 8 16 L06
E080U200 125 8 20 L06
E080U250 125 8 25 L06
E080U300 125 8 30 L06
E080U350 125 8 35 L06
E080U800 125 8 80 L06
E080U850 125 8 85 L06
E080U1200 12.5 8 120 L06
E100U160 15 10 16 L08
E100U200 15 10 20 L08
E100U250 15 10 25 L08
E100U300 15 10 30 L08
E100U350 15 10 35 L08
E100U1100 15 10 110 L08
E120U250 18 12 25 L10
E120U300 18 12 30 L10
E120U400 18 12 40 L10
E120U500 18 12 50 L10
E160U250 24 16 25 L12
E160U350 24 16 35 L12

75




B 3%

T FINRJR R (KR 48D
Shrink-Fit Principle

PUE IR / Heating
P THACES 19 2 VTR, P B R (0 TR R T A, M DR LE 3, SRR
When the induction coils works with electricity, the shank of the tool holderwhich placed in the coils

heating system, is heated and expands.

AHFEE / Cooling
R 22 AL Z s PR A 20, A R BRI . QAR )5 2 AL 7 K/ Nk b
Cooling with compressed air to room temperature. ( Cooling time is inversely proportional to the power

of air compressor)

f5: BT40-SF12-90

In#k 20-24 #¥A4) 180 B
Heating Time:20-24" Cooling Time:180"

N

- % -, -

L ¥
P15 BATIR [ 5 SR Ff B
Heating Inserting Cooling Removing
W 7] BB B A, W TI R E A IR EC A )T TIRRTE IR .
I} (8] 2 20-24 ISR PAL T W, PIAGE RAE JT R QIS G PRt
Place tool holder in heating Insert the cutter Cool the holder Heat the holder
machine 20-24s for heating to the expanded holder and hold the cutter and remove the cutter

BAEEFIZ 4 / User-Friendly With High Security

TIFFHOMAEHTIRIE G, QARG HITTRE BRI, NB#ahnid, ReiiEzzett.
When the holder is heated to the temperature to remove the cutter, the cooling system will be switched on
automatically.

No bothering to remove the heater.

76



Ik e L B
R 5 5 D Induction Head “brake”
. . (blue button)
Heating Machine

AT F
Machine Requirements Tk PHCLIE
Induction Induction Head handle
WA R TIFFE A T
M Electrical supply Display shank diameter
O3 il SR e
[ Rt Select mm or inch
M Air supply TS 8] 7R 2
Display heating cycle time
Fae A PN
Start heating Air inlet
in A [B) 3
I~ Adjust heating cycle time
Ll P X
Reset FFUEE R, JIM BAR G
H Select tool shank diameter

Air cycle

- BETR o BREEHRK -
it HnF E) S e a: iV . EHR 7] B R Y
Specification Shrink time - Voltage Tools Range
inductor Power
SINGLE-PHASE B
A 59 ®3-20 mm FRMC
SF-300 20-24" 220V 50/60HZ | 2000~3000W . 300x300x685| 20KG
Air Cooling LSAMP Carbide | ®18-32mm i%&fid

77



AR Ae I B
Tool Holder Adapter

g
Specication

HSK 40-SF
50-SF
63-SF
100-SF

BT 30-SF
40-SF
50-SF

S
Specication
AD-DSF
Mig: T [ 5E AR RS TIHE
A

For different sizes of holders

JIRRFFE

Clamp For Tools

ithe)
Specication

CFCT-3
CFCT-4
CFCT-6
CFCT-8
CFCT-10
CFCT-12
Mig: HTEN BULTIRM, FHrdoE JJRKE

For inserting and removing the cuttingtools from tool

holder;
Setting either the overhang length orinsertion length of
the cutting tool.

78

IS

Induction Head

ks
Specication
SF-HC-3-20 ¥R

SF-HC-18-32 &

Fl3ge: FIF IS RIRURS RS

Induction for different sizes o

—@l \\ﬂ:

Induction Ring

A
Specication
SFIR3-5

SFIR6-12

SFIR14-20

B ¥

SFIR25-32

Flig: AR
b S i

To prevent the heating and cooling

AL

part from outside environment.

HSK &f%
HSK Tool Holder Sleeve

e
Specication
SFTHS84*101

P T8 8 AN R A% TR
R

Supporting holder during tool
changes



ERHTER

Tools That Can Be Used

TR TR . Ed AN ) R AN RERGED

AT A 225G AR T FL 2 TIRRRBAV RN A 18 v S e R AT

FEh, TIEAEE AR /NR S S5 S ) 2 P BEAS JeRpfLIE T 3, 1RO R TER .
Please use the carbide cutter. No HSS cutter.

No shrink release is possible for any tool for high speed steel.

+ 4> 000

A tools exceeding its tolerance can cause breakage or slippage.

I RFE

Take Care To Avoid Burns
o HUL{ELE, &rEER, FERGAR, WEEOLMEHATFE.

<> Take care to avoid burns:Because the metal becomes quite hot during heating operation, be sure to weargloves.

hi4T (BT
Retention Knob(BT)
® IHFIHHIKKET, HNERKRET BT E T

o HERE A A TURA BN T H .

<> Use a retention knob that has perforations, or remove the retention knob and heat it.

< The typical retention knob has no vent to release air, preventing tools from being inserted

A FE (HSK)

Coolant Duct(HSK)

® IEANWSFEINRN, SHINTER o MIF,

® i, EE FAHRSE.

® ARIHAA BTN, TR ] DL g BT RN T L 2

<> Remove the coolant duct before heating the holder, heating the holder with coolant duct attached, the o-ring will be

damaged.

< A dummy duct is available for coolant shrinking and removing in place.

RSN SR A

Cooling By Air From Outside

® 1 HRB-03S. HRB-02S. HRB-01 "', FHAME A& EINS, ALK HAEMB R E L.

® AR NHIRUEIEM, IR

<> Do not directly apply air to the shrink-tting heater when cooling the HRB-03S, HRB-02S or HRB-01 usingair from the
outside.

<> The fan in the heater will melt resulting in a breakdown.

KA I HIER

Precautions For Water-Cooling

® ML EKA, AEKEKES, ARG,
TEERIESE B H 1 208 L B (COOL IR Z Jait T /K% .
WHREREKT . BREKDE, AFHTE TN

Water-cooling immediately after shrink tting may result in burns due to the large quantity of steamgenerated.

R )

Be sure to set the shrink-tting heater setting to cool and cool the holder for at least one minute beforewater-cooling
it.

<>

Moisture left on the holder may lead to rust formation and damage to the holder. so be sure to completelyremove all
moisture.

79



HSK A7 7 41
HSK Tool Holder Specification - DIN69893

L3 Ls Ls t t
A
o | | o] /_ \
S :
SN [
o
]
~ é m‘ Nk l’ (it "j
5 L 3 2 (|
1 ! |
=y :
v . Le 1D
- =t
L2 L1
=
Specication
HSK40A 40 30.007 20 20 16 4 11.42 6 3.5 11 9 8.05 17
HSK50A 50 38.009 25 26 18 5 14.13 7.5 4.5 14 12 10.54 21
HSK63A 63 48.01 32 26 18 6.3 18.13 10 6 18 16 125 26.5
HSK100A 100 75.013 50 29 20 10 28.56 15 10 22 20 20 44

BT 1 140 &
BT Tool Holder Specification - JIS MAS403
) o t t
j X\ " 704 g - T
i N
— -'6‘
RSSO L
58 H : )3 -
RS |
‘ L=
r L3
sl I
Lz P L1
L4
= R~} Dimension
Specication L2 ‘ L3
BT30 31.75 12.5 48.4 46 38 20 13.6 2 8 16.1 16.3 M12
BT40 44.45 17 65.4 63 53 25 16.6 2 10 16.1 22.6 M16

BT50 69.85 25 101.8 100 85 35 23.2 3 15 25.7 354 M24

80



